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Question Number : 1 Question Id : 6154759669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the learning outcomes are intended 1n teaching organized at understanding level?

(1) Longer recall and retention of facts
(2) Seeking of relationships and patterns among facts
(3) Creative construction and critical interpretation of ideas

(4) Mastery of facts and information

Options:
61547537701, 1
61547537702 2



E1547537703. 3
B1547537704. 4

Question Number : 1 Question Id : 6154759669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547537701, 1
61547537702 2
61547537703 2
61547537704 4

Question Number : 2 Question Id : 6154759670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements differentiate teaching from learming?

(a) Teaching 1s a social act while learning 1s a personal act

(b) Teaching 1mplies learning

(c) Teaching 1s like selling while learning 12 ike buving

(d) Teaching can occur without learning taking place

(e) In teaching. influence is directed towards learning and learner, while in learning 1t 1s

usually towards oneself

Choose the correct answer from the following options :

(1) {a). (c) and (e) (2)  (a). (b)and (c)
(3) (b). (¢) and (d) (4) (e). (d) and (e)
Options:

615475277051
61547537706, 2
E1547537707. 3
E1547537708. 4

Question Number : 2 Question Id : 6154759670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475277051
61547537706, 2
E1547537707. 3
E1547537708. 4

Question Number : 3 Question Id : 6154759671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are classroom related factors that influence effectiveness of teaching?

(a) Prior task related behaviour of students

(b) Adherence to linear pattern of communication by the teacher
(c) Socio-economic status of the family to which learners belong
(d) Inappropriate use of technological resources by the teacher

(e) Cultural background of students

Choose your answer from the following options :

(1) (a). (b) and (c)
(2) (b). (c¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)
Options:
1547523770591
15475377102

E1547537711. 3
BE1547537712. 4

Question Number : 3 Question Id : 6154759671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547537709, 1
E1547537710. 2
61547537711, 5
61547537712 4

Question Number : 4 Question Id : 6154759672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following types of learning materials, the presentations are highly structured
and individualised?

(1) Textbooks prescribed by the universities

(2) Journals and the articles recommended for readings

(3) Writings of great thinkers selected for reflective readings

(4) Programmed instructional and modular learning material

Options:

615475377131
61547537714 2
61547537715, 5
61547537716, 4

Question Number : 4 Question Id : 6154759672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

615475377121
61547527714 2
61547527715 2
61547537716, 4

Question Number : 5 Question Id : 6154759673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of assessment 1s conducted periodically with an eve on

standards?

(1) Formative assessment (2) Summative assessment

(3) Portfolio assessment (4) Performance assessment
Options:

615475377171
61547537718, 2
E1547537718. 3
B1547537720. 4

Question Number : 5 Question Id : 6154759673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547537717, 1
61547537718 2
61547537719 2
E1547527720. 4

Question Number : 6 Question Id : 6154759674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A university teacher plans to improve the study habits of students in his/her class. Which
type of research paradigm will be helpful in this regard?

(1) Evaluative research paradigm (2) Fundamental research paradigm
(3 Applied research paradigm (4) Action research paradigm
Options:

6154752377211
E1547537 722 2
B1547537723. 3
B1547537724. 4

Question Number : 6 Question Id : 6154759674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547537721. 1
B1547537722. 2
B1547537723. 3
G1547537724. 4

Question Number : 7 Question Id : 6154759675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A researcher intends to make use of ICT 1n his/her research. What considerations should
welgh most 1n such a decision?

(a) Appropriateness of the tool used
(b) Cost 1nvolved 1n procuring it
(c) Availability of tools in the department where research 1s to be undertaken

(d) Willingness of his/her supervisor to offer help
(e) The company from which the ICT equipment has been procured

Choose vour answer from the following options :

(1) (a). (b) and (c) (2) (c). (d) and (e)
(3) (a). (c) and (d) (4) (b). (c) and (e)
Options:

615475377251
G1547537726. 2
E1547537727. 3
E1547537728. 4



Question Number : 7 Question Id : 6154759675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547537725. 1
B1547537726. 2
B1547537727. 3
E1547537728. 4

Question Number : 8 Question Id : 6154759676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sampling procedures will be appropriate for conducting researches

with empirico-inductive research paradigm?
(1) Simple random sampling procedure
(2) Systematic sampling procedure

(3) Stratified sampling procedure

(4) Any of the non-probability sampling procedures

Options:

61547537729 1
615475377320 2
15475327721, 2
61547537732, 4

Question Number : 8 Question Id : 6154759676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475377291
61547537730 2
61547537731 3
61547537732 4

Question Number : 9 Question Id : 6154759677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following formats ‘Chapter Scheme’ of the document has to be formally

approved by a research degree committee 1n the university?

(1) Thesis/dissertation (2) Seminar papers
(3) Research articles (4) Research monographs
Options:

B1547537733. 1
B1547537734. 2
61547537735 3
E1547537736. 4

Question Number : 9 Question Id : 6154759677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547537733. 1
B1547537734. 2
B1547537735. 3
B1547537736. 4



Question Number : 10 Question Id : 6154759678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A research scholar while submitting hiz/her thesis. did not acknowledge in the preface the
help and support of the respondents of guestionnaires used. This will be called an instance of

(1) Technical lapse (2)  Wilful neghgence
(3) Unethical act (4) Lack of respect
Options:

B1547537737. 1
B1547537738. 2
61547537735 3
61547537740, 4

Question Number : 10 Question Id : 6154759678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547537737. 1
61547537738, 2
E1547537739. 3
E1547537740. 4

Question Number : 11 Question Id : 6154759679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When there 1= an animated discussion between a teacher and his or her students in the
classroom. 1t can be classified as :

(1) Horizontal communication (2) Mechanical communication
(3) Linear communication (4) Categorical communication
Options:

E1547537741. 1
E1547537742. 2
E1547537743. 3
B1547537744. 4

Question Number : 11 Question Id : 6154759679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475377411
61547537742 2
E1547537743. 3
E1547537744. 4

Question Number : 12 Question Id : 6154759680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Information overload 1n a classroom evmironment by a teacher will lead to

(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayed feedback
Options:

615475377451
E154753774E. 2
B1547537747. 3
B1547537748. 4

Question Number : 12 Question Id : 6154759680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475377451
61547537746 2
E1547537747. 3
61547527748, 4

Question Number : 13 Question Id : 6154759681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A verbal communication technique used in teaching 1s

(1) Slow expression of words
(2) Varving the speed of voice and tone
(3 Presentation without pause

(4) Resorting to semantic jugglery
Options:
1547537749 1
1547537750 2
1547537751 2
1547537752 4

Question Number : 13 Question Id : 6154759681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547537748. 1
B1547537750. 2
61547537751, 3
61547537752 4

Question Number : 14 Question Id : 6154759682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following modes of communication can be employed 1n a classroom for effective
teaching?
(a) Top-down

(b) Iconic
(c) Associational
(d) Dissociational

(e) Svmbolic
(f) Abstract

Choose the most appropriate option from the following :

(1) (a). (b) and (f) (2) (c). (e)and (D)
(3) (b). () and (e) (4) (a).(c) and (d)
Options:

615475377521
E1547537754. 2
E1547537755. 3
61547537756, 4



Question Number : 14 Question Id : 6154759682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547537753. 1
61547537754 2
61547537755 3
E1547537756. 4

Question Number : 15 Question Id : 6154759683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two Statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A): Use of slang 1n formal teaching makes commumication lively and
Interesting.

Reasons (R) : Academic decency demands the avoidance of slang in the classroom
environment.

In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1= false. but (R) 1s true



Options:

61547537757, 1
61547537758 2
E15475327759. 2
61547537760, 4

Question Number : 15 Question Id : 6154759683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547537757, 1
61547537758 2
E15475327759. 2
61547537760, 4

Question Number : 16 Question Id : 6154759684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain coding language. "AEIOU 1s wnitten as TNHDZ. Using the same coding
language, ‘BFJPV will be written as

(1) UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

BE1547537761. 1
B1547537762. 2
61547537763, 3
E1547537764. 4

Question Number : 16 Question Id : 6154759684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

wF F2 9T # AEIOU =i “TNHDZ' % =1 ® fomgn a1 2| 35t %2 9o &1 v =2 ‘BFJPV =1 fFm
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(1) UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

615475377611
B1547537762. 2
E1547537763. 3
61547527764, 4

Question Number : 17 Question Id : 6154759685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 3% of (a+b) = 7% of (ab)

and 5% of (a—b) = 4% of (ab),

then what percentage of b 1s a?

47 23

(1 % 9y =229
) 93" @ 7"
@ 40, @ 2300,
923 47
Options:

E1547537765. 1
E154753776E. 2
B154753776Y. 3
61547537768, 4

Question Number : 17 Question Id : 6154759685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475377EE. 1
E154753776E. 2
B154753776Y. 3
B1547537768. 4

Question Number : 18 Question Id : 6154759686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of a number and its inverse 1s —4. The sum of their cubes 1s :

(1) 52 (2) 52
(3) 64 (4) —-64
Options:

615475377651
E1547537770. 2
E1547537771. 3
B1547537772. 4

Question Number : 18 Question Id : 6154759686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) —52 (2) 52
(3) 64 (4) —64
Options:

615475277691
E1547537770. 2
E1547537771. 3
B1547537772. 4

Question Number : 19 Question Id : 6154759687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A certain principal invested at compound 1nterest payvable yvearly amounts to Rs. 10816.00 1n
3 yvears and Rs. 11248.64 in 4 years. What 1s the rate of interest?

I 3% 2 4%
(3) 4.5% (4) 5.5%
Options:

615475377731
E1547537774. 2
61547537775 3
B1547537776. 4

Question Number : 19 Question Id : 6154759687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3% (%) 4%
(3) 4.5% (4) 5.5%
Options:

E1547537773. 1
E1547537774. 2
B1547537775. 3
B1547537776. 4

Question Number : 20 Question Id : 6154759688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the exact equivalent discount of three successive discounts of 10%, 15% and 20% by
sale of an article?

(1) 35.8% (2) 38.5%
(3  35.5% (4) 38.8%
Options:

B1547537777. 1
B1547537778. 2
G15475377739. 3
61547527780, 4

Question Number : 20 Question Id : 6154759688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 35.8% (2)  38.5%
(3) 35.5% (4) 38.8%
Options:

B1547537777. 1
B1547537778. 2
B15475377739. 3
61547537780, 4

Question Number : 21 Question Id : 6154759689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following hetwabhasa (fallacy) 1s involved 1n the argument, “Sound i1s
element because it 1s cauzed™?

(1) Viruddha or contradictory middle
(2) Satpratipaksa or inferentially contradicted middle

(3) Sﬁdh}'asama or the unproved middle

(4) Badhita or non-1nferentially contradicted middle
Options:
615475377511
61547537782 2
61547537753 3
1547537754 4

Question Number : 21 Question Id : 6154759689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475377811
E1547537782. 2
61547537783 3
E1547537784. 4

Question Number : 22 Question Id : 6154759690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following argument :

Statements : Some chairs are curtains.
All curtains are bedsheets.

Conclusion : Some chairs are bedsheets.

What 1s the Mood of the above proposition?

(1) IAT (2) IAA
(3) ITA (4) AII
Options:

615475377851
E1547537786. 2
E154753778Y. 3
E1547537788. 4

Question Number : 22 Question Id : 6154759690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) IAI (2) IAA
(3) ITA (4) AII
Options:

615475277851
61547537786, 2
E1547537787. 3
E1547537788. 4

Question Number : 23 Question Id : 6154759691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s converse of ‘Some S 1s P*?

(1) Some S 1s not P (2) SomePisnotS
(3) Some P1s S (4) NoPisS
Options:

615475377891
61547527730, 2



E15475377391. 3
B1547537782. 4

Question Number : 23 Question Id : 6154759691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F3 S, P 7 - TH Uadm Fefeifgd 9 o A1 27

(1) F8S8.PFi= (2) FBP.STH 3
(3) EEP.S?E (4 =EP,S7H ¢
Options:

BE1547537789. 1
B1547537730. 2
61547537731, 3
E1547537732. 4

Question Number : 24 Question Id : 6154759692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following fallacious hetu (middle term) is not uniformly concomitant with
the major term?

(1) Asatpratipaksa (2) Auyvatireka
(3) Anyonya-Asiddha (4) Suyabhicara
Options:

6154753773921
E15475377394. 2
B15475377395 3
B1547537736. 4

Question Number : 24 Question Id : 6154759692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeAfetad B o S 3999 =d H@159 U5 % OO F9 § T T8 8 7

(1)  =1=e ufaus (2) oA

(3) I 1= | oz (4) P [=2a e ey
Options:

BE15475377393. 1
615475377354 2
61547537735 3
E1547537736. 4

Question Number : 25 Question Id : 6154759693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to classical Indian school of logic. what 1s the correct sequence of steps involved 1n
Anumana (influence)?

(1) Upana}-'a.PratijI;a. Hetu, Udaharana . Nigmana
(2) Prat.ij;la. Hetu, Upanaya. Udaharana , Nigmana
(3) Pratij;m . Upanaya. Hetu, Udaharana . Nigmana
(4) Pratijgla . Hetu. Udaharana . Upanaya. Nigmana

Options:

61547537797, 1
61547537798 2
615475377399 2
E1547527800. 4

Question Number : 25 Question Id : 6154759693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. ~ r = -, e - - - - e P S
R YA TR il FEREE AR FAE 0 HiEd S9E-3T69 F 9] HeenEd 9 "
FIAET ATHA TRl B 7

(1) T, TTHeT, E'T-[ 22T, e (2) wfaa, Tﬁ 30, IR, A
(3) ofes, 397, 74, e, e (4) wfamm, =4, sEww, I,
Options:

61547537737, 1
E15475377398. 2
B1547537799. 3
51547537800, 4

Sub-Section Number: 2
Sub-Section 1d: 615475419
Question Shuffling Allowed : Yes

Question Id : 6154759694 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



The following table gives the percentage of marks obtained by 6 students in 5 different
subjects 1n an examination. The numbers in the parenthesis give the maximum marks In
each subject. Answer the given gquestions based on the table :

Subject (Max. Marks) Percentage (%) of marks obtained

Name of - : : :

stsderk Maths | Chemistry | Physics Biology English
(150) (130) (120) (100) (100)

Anlkat a0 a0 80 60 70

Amar 100 60 70 40 80

Sanva a0 60 85 80 G0

Rahul S0 fis) G5 a0 a0

Puneet S0 80 70 85 50

Pooja 70 i) 50 80 40

Sub questions

Question Number : 26 Question Id : 6154759695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the overall percentage of marks obtained by Amar?

(1) 70% 2y 72%
(3) 60% (4) 58.33%

Options:
B1547537501.

E154753780Z.
E1547537803.
E1547537804.

[ N

Question Number : 27 Question Id : 6154759696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the aggregate of marks obtained by Sanyva in all the five subjects?

(1) 375 (Z2) 395
(3) 455 (4) 475

Options:
£1547537505.

E1547537 806,
E1547537807.
51547537808,

[ N S

Question Number : 28 Question Id : 6154759697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the average marks obtained by all the six students in Chemstry?

(1) 86.66 (2) 76.66
(3) 66.66 (4) 60.00
Options:

B1547537809. 1
61547537810, 2
61547537811, 3
61547537812, 4

Question Number : 29 Question Id : 6154759698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students obtained 60% and above marks 1n all the subjects?

(1) Three (2) Two
(3) One (4) Zero
Options:

E1547537813. 1
E1547537814. 2
B1547537815. 3
61547537816, 4

Question Number : 30 Question Id : 6154759699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which subject the performance of the students is worst 1n terms of percentage of marks?

(1) Chemistry (2) Physics
(3) Bioclogy (4) Enghsh
Options:

BE1547537817. 1
61547537818, 2
615475378149, 3
61547537820, 4

Question Id : 6154759694 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



et @ifeem & Arem 4 R ol 1 ©: smil gm 5 fE-fam e 5 awe i o FgEen
T B HIEE O 4 TS HEA Yok 999 % Saedn 39 il gl | dieiehl % 37T9R 91 15 T 99l 6
I o

faw= ITH ST =i aiaerdr (%)
(ATeRan 37%)

=79 F 91 TTfor A gitgh | SE-fawE | s
(150) (130) (120) (100) (100)

A 00 50 80 60 70

IR 100 60 70 40 80

= 00 60 85 80 60

TEd 80 75 65 90 90

g 80 80 70 85 50

LEL 70 75 50 80 40

Sub questions

Question Number : 26 Question Id : 6154759695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FTHL AT OTH 31 i e afaeraer fRal 27

(1) 70% (2) 72%
(3) 60% (4) 58.33%
Options:

61547537201,
Cl1547537502.

E1547537803.
51547537804,

[ N

Question Number : 27 Question Id : 6154759696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt o= faw=t | T & TEE g A e R

(1)

Lo
L

(2) 39

L& ]

(3) 4553

Lo ]
LN

(4) 475

Options:
E1547537505.

E1547537806.
61547537807,
51547537808,

e LI M



Question Number : 28 Question Id : 6154759697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THEE TagH § g S D11 B HAEd ITH T HAE B 7

(1) 86.66 (2) 76.66
(3) H6.66 {4y 60.00
Options:

E1547537808. 1
E1547537810. 2
61547537811, 3
61547537812, 4

Question Number : 29 Question Id : 6154759698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tl fHag 9 T 9 4 60% I1 SHE SAH 37 UTH B0 R 7

-~ -

(1) GIE (2) =i
(3) = (4 I=
Options:

615475378121
E1547537814. 2
E1547537815. 3
61547537816, 4

Question Number : 30 Question Id : 6154759699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S i ufeeraar =1 3fe ® fHE fav 4wt # o ges wue wE

(1) e e (2) HiEw-TaE
(3) = EEE (4) ==
Options:

61547537817, 1
615475378158, 2
E1547537818. 3
E1547537820. 4

Sub-Section Number: 3
Sub-Section 1d: 615475420
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 6154759700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following tasks 1s associated with changing appearance of a document in
word processing?

(1) Editing (2) Formatting
(3) Writing (4) Printing
Options:

615475237821, 1
E1547537822. 2
E1547537823. 3
B1547537824. 4

Question Number : 31 Question Id : 6154759700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FefeIfiad e 8 § -3 5 92 TEET | SiegEs F =EY d 95| § 131 2 7

1) = (ofsfen) @ W
Gy i () @) T (Fafem)
Options:

BE1547537821. 1
E1547537822. 2
B1547537823. 3
61547537824, 4

Question Number : 32 Question Id : 6154759701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term one gigabyte refers to :

(1) 1024 petabytes (2) 1024 megabytes
(3) 1024 kilobytes (4) 1024 bytes
Options:

BE1547537825. 1
B1547537826. 2
B1547537827. 3
61547537828, 4

Question Number : 32 Question Id : 6154759701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) 1024 TZrEEg (2) 1024 TMETES
(3) 1024 FrerraEEH (4) 1024 =iEem
Options:

61547537825 1
E1547537826. 2
E1547537827. 3
61547537828, 4

Question Number : 33 Question Id : 6154759702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

15 a wireless technology built in electronic gadgets for transferring data over
short distance

(1) WiF1 (2) Bluetooth
(3) Modem (4) USB
Options:

E1547537829. 1
E1547537830. 2
61547537821, 3
61547537832, 4

Question Number : 33 Question Id : 6154759702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U A TR B A 3 G SeT o A % fon s 39 | i wen #

1) 9B wE (2) w=u
(3) Hi=H (4) Fums]
Options:

615475278291
61547537830, 2
E1547537831. 3
E1547537832. 4

Question Number : 34 Question Id : 6154759703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PCI stands for

(1) Partial Component Interconnect (2) Partial Component Interaction
(3) Peripheral Component Interconnect (4) Peripheral Component Interaction
Options:

61547537832, 1
E1547537834. 2
E1547537835. 3
51547537836, 4

Question Number : 34 Question Id : 6154759703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T H 317E RO 9199 =9 7

(1)  wIETg= FUHE SerFae (2) TIEES FIHE S2EE

(3) T a2 T2 (4) UTFE FUHZ ST
Options:

61547537832, 1
E1547537834. 2
E1547537835. 3
51547537836, 4

Question Number : 35 Question Id : 6154759704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The national agency for responding to computer security incidents as and when they occur.
18

(1) CAT (2) CDAC
(3) CCA (4) ICERT
Options:

BE1547537837. 1
61547537838, 2
61547537839, 3
61547537840, 4

Question Number : 35 Question Id : 6154759704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U T 2 H gl g O meEtad 9l W ST At 7 o

(1) o T A (2) WFHud
(3) Hrdrw (4) M= =i = 3F 7
Options:

E1547537837. 1
E1547537838. 2
61547537839, 3
61547537840, 4

Question Number : 36 Question Id : 6154759705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify from the options given below. the co-benefit of Montreal Protocol

(1) Impetus to development of energy efficient systems
(2) Reduction in carbon dioxide (equivalent) emissions
(3) Convergence of efforts of international community in addressing air pollution
(4) Control of transboundary movement of hazardous waste
Options:

E1547537841. 1
B1547537842 2
61547537843, 3
61547537844, 4

Question Number : 36 Question Id : 6154759705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT TeFeal 5§ Hif-29 TIErhe * Hu-o19 i =iad i

(1) FHAT 9 U F IR F OO

(2) FTEq SEATFIES (FHT4) Iegs9 § ]
(3) 91 vEEW # A U ® g 9HEE % YA H ATEE

(4) IR AU % HE % 6 e W

Options:
61547537841, 1
61547537842 2



E1547537843. 3
61547537844, 4

Question Number : 37 Question Id : 6154759706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Green India Mis=ion. how manv hectares of degraded forest land 1s to be brought

under afforestation?

(1) 02 million hectares (2) 06 million hectares
(3) 08 million hectares (4) 20 million hectares
Options:

E1547537845. 1
B154753784E. 2
B1547537847. 3
61547537848, 4

Question Number : 37 Question Id : 6154759706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) 02 fafe=m z7em (2) 06 Taferam sFem
(3) 08 THferEa s (4) 20 Mol s%em
Options:

61547527845 1
E154753784E. 2
E1547537847. 3
E1547537848. 4

Question Number : 38 Question Id : 6154759707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The themes of some Sustainable Development Goals are

(a) Chmate action

(h) Sustainable cities and communities

(c) Peace. justice and strong institutions

(d) Skill development and decent emplovment
(e Green agriculture

(f) Reszponsible consumption and production

Choose the most appropriate from those given below :

(1) (a). (b). (c). (e) and (f)
(2) (b). (c). (e) and ()
(3) (b). (c). {d). (e) and (D
(4) (a). (b). (¢) and ()

Options:

61547537549 1
6154753738500 2
61547537851, 5
61547537852 4

Question Number : 38 Question Id : 6154759707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fidua g faFm Fa & 7w E -
(a) o™ FHE

(b)  HEWE TR 3R FEE

(c) A, =T 3R G55 HEIH

(d)  Fiwe fTFE @A 399 e

(e)  Eia F
(f) Il WU ST 3T

3 - £~
Y IUFF Tahed T I

(1)  (a). (b). (c). (e) 31 (P
(2) tbLtthenaﬁILﬂ
(3) (). (c). (d). (e) AT (D

(4)  (a). (b). (c) T (f)
Options:
51547537849, 1
61547537850, 2
61547537851, 3
61547537852, 4

Question Number : 39 Question Id : 6154759708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The most dominant source of Benzene emissions 1in ambient air is

(1) Cement industry (2) Cigarettes
(3) Car exhausts (4) Paints and varnish
Options:

E1547537853. 1
E1547537854. 2
51547537855, 3
61547537856, 4

Question Number : 39 Question Id : 6154759708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT (TR ) T 7 H SE Sche i Taitas T #@id 2

(1) ==z 3= (2) Tamez
3) W Fadw (4) Uz 3 AT
Options:

51547537853, 1
61547537854, 2
61547537855, 3
E1547537856. 4

Question Number : 40 Question Id : 6154759709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most important pollutants that cause degradation of water quality 1n rvers and streams
are
(a) Bacteria
(b) Nutrients
(c) Metals
(d) Total dissolved solids
(e) Algae

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) (2) (a), (b) and (d)
(3) (a). (b). (d) and (e) (4) (a). (b). (c), (d) and (e)
Options:

E1547537857. 1
E1547537858. 2
61547537859, 3
61547537860, 4

Question Number : 40 Question Id : 6154759709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[ r IR o S ] B, e N X
HATgF Hecaqvl TE9F =1 Aa1 AR FAT 9 T hl o] &l F= T W B

[}

(a)  =E

b)  TEF A

(c) HTd

d) T HA N IE

(e) I

fefertian fampea o & @il SUge 300 1 =999 hiraw

1) (). (b) 3 (¢) (2 (a). (b) #T (d)
(3 (a). ®). (d) I (e) (4) (a), (b). (c), (d) =71 (e)
Options:

B1547537857. 1
61547537858, 2
615475378549, 3
61547527860, 4

Question Number : 41 Question Id : 6154759710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Database WOS stands for

(1) Web of Science (2) Web of Sources
(3) World of Science (4) Web of Service
Options:

61547537861, 1
61547537862, 2
61547537863, 3
E1547537864. 4

Question Number : 41 Question Id : 6154759710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5ld i-5_-1. L2 .E_r"if"“:! -S:H ey T"'-.'

(1) =9 7 =99 (2) =9 3% AES

(3)  =FE ¥AF TTH (4) F= 7 GlEg
Options:

61547537861, 1
E1547537862. 2
61547537862, 3
E1547537864. 4



Question Number : 42 Question Id : 6154759711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The major barriers for access to higher education 1n India are :

(a) more opportunities of emplovment for less educated
(b) government policies

(c) language of instruction

(d) economic status

(e) competition from forelgn universities

() gender discrimination 1n soclety

Choose the correct answer from the options given below :

(1) {a). (b) and (c) (2)y (b). {c) and (e)
(3) (c). (d) and (D (4) (d). (e) and ()
Options:

61547537865, 1
E154753786E6. 2
E1547537867Y. 3
61547537868, 4

Question Number : 42 Question Id : 6154759711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qE H w3 e o At | 5 A E o
(a)  =d forfers =t =1 TR F AfaE s

(b)  HCRRI it

(c) FIZTA FT 9T

(d) =i feafa

(e)  Tacsii frvafammem & wiaeal
@®  Ture o gfeen gl deuE

Jr=r fau o fawedt O 9 wEl faew 9w

(1) (a). (b) # (c) (2 (b, (c) I (o)
3) (o). (d) 37 (D 4)  (d). (e) #7 (D
Options:

E1547537865. 1
61547537866, 2
E1547537867Y. 3
E1547537868. 4

Question Number : 43 Question Id : 6154759712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

According to GATS (General Agreement on Trade and Services). higher education should be

a commodity in the

(1) domestic public sector (2) domestic private sector
(3) non-trading sector (4) global marketplace
Options:

515475378649, 1
61547537870, 2
61547527871, 3
BE1547537872. 4

Question Number : 43 Question Id : 6154759712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U F TH (SR AR HETs ge " THEan) F AgEn 3= e s e stee wm anEe

(1)  oie] 50 &9 @ we a
(B e o (4) Afvas FrE ==
Options:

BE1547537869. 1
61547537870, 2
61547537871, 3
61547537872, 4

Question Number : 44 Question Id : 6154759713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements 1s true in the Indian context?

(1) Autonomous colleges can grant degrees independent of umversities
(2) Autonomous colleges can grant only bachelor’s degree independent of universities

(3) Except doctoral degrees. all other degrees and diplomas can be granted by

autonomous colleges

(4) Whatever may be the degree or diploma. autonomous colleges can grant them under

their own name but under the seal of an affiliated university

Options:
615475378731
61547537874 2

61547537875, 3



BE1547537876. 4

Question Number : 44 Question Id : 6154759713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g gfies o foifeg § O -1 e od 27

(1)  =Ea geidae [avataeadl 9 TEad 5 399al 9o & 994 2
(2)  =EE Rl SvaEeadl ¥ Ead 59 Fae HaE SUgdl TeHE # O9%d 2
(3) I Eiaeedl o SEEE SUEET & i = g I 1R e uee e . o9 6

(4) == =iz o Iuily =1 S B e AEiadeE 6 30 AW SAdd USH # G%d B g HE
Heg favataemem $i w5l

Options:

61547537873 1

E1547537874. 2
E1547537875. 3
BE1547537876. 4

Question Number : 45 Question Id : 6154759714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rashtriva Uchhatar Shiksha Abhivan (RUSA) aims to achieve the following in Higher

Education System :

(a) Equity
(b) Access
(c) 50% GER

(d) Excellence

Choose the correct option from those given below :

(1) (a), (b) and (c)
(2) (a). (c) and (d)
(3) (a). (b) and (d)
(4) (b). (c) and (d)

Options:
B1547537577. 1

E1547537878. 2
E1547537879. 3
B1547537880. 4



Question Number : 45 Question Id : 6154759714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S e wone § T = foe At (AR g vE v) FefetEe w5 O w6 w5 e @

(a) G

(b) AT

(d) ElE:oll
= fow o faedt @ @ wE famew gihw

1)  (a). (b) 7 (c)
(2) (). (c) ¥ (d)
(3)  (a). (b) 37 (d)
4)  (b). (c) ¥ (d)
Options:
C1E4FEEFETF. 1
L1E47EEFETE. 2

B1547537875. 3
61547537880, 4

Sub-Section Number: 4
Sub-Section 1d: 615475421
Question Shuffling Allowed : Yes

Question Id : 6154759715 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension



Read the passage carefully and answer questions that follow :

There 1s no doubt that the market as a realitv and political economy as a theory plaved an
umportant role in the liberal crtique. But liberalism 1z neither the consequence nor the
development of these: rather. the market played. in the hiberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of excessive governmentality
and even welgh their significance: the analvsis of the mechamsms of “dearth” or more
generally. of the grain trade 1n the middle of the eighteenth century. was meant to show the
point at which goverming was always governing too much. Therefore. an anlaysis to make
visible. 1n the form of evidence. the formation of the value and circulation of wealth—or, on
the contrary. an analyvsis pre-supposing the intrinsic invisibility of the connection between
individual profit-seeking and the growth of collective wealth—economies, 1n any case. shows a
basic ncompatibility between the optimal development of the economic process and
maximisation of government procedures. It 13 by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the “reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed 1t at the limit of governmental action. Liberalism does not derive from jurdical
thought any more than it does from an economic analysis. It 1s not the 1dea of a political
soclety. but the result of search for a liberal technology of government.

Sub questions

Question Number : 46 Question Id : 6154759716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following plaved a role in the liberal eritique?

(1) Liberalism as a consequence of market forces
(2) Liberalizm as an offshoot of political economy
(3) Reality of market
(4) Political economy as a practice

Options:

51547537881, 1
61547537882, 2
61547537882, 3
E1547537884. 4

Question Number : 47 Question Id : 6154759717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The liberal critique examined the 1implications of

(1) market expansion (2) too much governance

(3) growth of polhitical economy (4) politics of marketisation

Options:



E1547537885. 1
61547537886, 2
B1547537887. 3
61547537888, 4

Question Number : 48 Question Id : 6154759718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What kind of evidence was needed to make the liberal critique visible?

(1) Circulation of wealth (2) Pre-supposing individual profit
(3) Dearth 1n supply of grain (4) Incompatibility of growth
Options:

E1547537889. 1
61547537830, 2
61547537831, 3
61547537832, 4

Question Number : 49 Question Id : 6154759719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

What 13 incompatible with optimal economic development?

(1) Plav of 1deas

(2) Absence of commercialism

(3) Political society

(4) Excessive government procedures
Options:

E15475378593. 1
B1547537894. 2
615475378385, 3
E1547537836. 4

Question Number : 50 Question Id : 6154759720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The passage 1s indicative of the author's preference to

(1) economic hegemony of individuals
(2) Iimit government control of economics
(3) seek hberalism from jurdical thought

(4) promote individual profits

Options:



BE1547537897. 1
615475378398, 2
61547537895, 3
61547537300, 4

Question Id : 6154759715 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 6154759716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SEFATE] T | fAefertad § ° e gire w87

(1)  STERERT % TROHEEY 3ERATE (2) TEHATTGF A qHOHEEY IEEEE
(3)  =TER I AEAEEA (4) =FEN % =9 § TAAaE Ay
Options:

61547537881, 1
61547537882, 2
E15475378E3. 3
E1547537884. 4

Question Number : 47 Question Id : 6154759717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547537885, 1
61547537886, 2
E1547537887. 3
E154753788E. 4

Question Number : 48 Question Id : 6154759718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SETETEl TATT 1 56 &9 54 % 70 | TR o WA i e o 7

(1) & = af=ed (2) =ATHTE AT F GEAAE
(3) e i g § FAE (4) T = wHe B
Options:

E154753788%9. 1
E1547537830. 2
E15475378391. 3
B15475378392. 4

Question Number : 49 Question Id : 6154759719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

srag AU AFE F ey e d g FH-s99 &7
(1) e | e

(2) EHUIEZE TR IC|

(3)  TeHIdH THIE
(4) oIS HERET FEUEE
Options:

E15475378593. 1
B1547537894. 2
615475378385, 3
E1547537836. 4

Question Number : 50 Question Id : 6154759720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547537897, 1
E1S547537898. 2
61547537599, 5
61547537900 4

PART II Social Worl:

Section Id : 615475130

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section |1 d: 615475422
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154759721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Social workers should not take unfair advantage of any professional relationship or exploit
others to further their personal. religious, political or business interest™ — this statement 1s

a part of

(1) Value base of social work profession (2) Ecological system theory

(3) Code of Ethics (4) Chent waivers of confidentiality

Options:

61547537501, 1
61547537902, 2
61547537902 5
61547537304, 4



Question Number : 51 Question Id : 6154759721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547537901, 1
61547537302 2
61547537303 2
61547537304 4

Question Number : 52 Question Id : 6154759722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Code of Ethics in social work profession in India i1s prepared by

(1) State Governments
(2) Universities and Colleges offering social work
(3) Professional organisations of social work

(4) Emplovers of Social Work Professionals

Options:

61547537905, 1
E1547527306. 2
61547537907, 2
61547537308, 4

Question Number : 52 Question Id : 6154759722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547537905, 1
61547537906, 2
61547537307, 2
61547537308 4

Question Number : 53 Question Id : 6154759723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Occupational social work 1s the field of practice in which social workers attend to the human

.

and social needs of

milieu by designing and executing appropriate

interventions to ensure healthier individuals and environment.

(1) Orthopaedic patients in the hospitals (2) Employees in the work

(3) Therapists in the hospital (4) Jail inmates in the work houses

Options:

61547537909, 1
61547537310 2
61547537911, 2
61547537912 4

Question Number : 53 Question Id : 6154759723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547537909, 1




E15475373910. 2
61547537911, 3
B154753791%. 4

Question Number : 54 Question Id : 6154759724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(Green soclal work 1s related to application of social work knowledge 1n the field of
(1) Improving ecological model of social work

(2) Working on 1ssues related to environment

(3) Providing help to agricultural workers

(4) Promoting pavement dwellers to use paper products in place of plastic products

Options:

615475379131
61547537314 2
61547537915 2
15475327316 4

Question Number : 54 Question Id : 6154759724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475379131
E1547527314 2
61547537915
615475379316 4

Question Number : 55 Question Id : 6154759725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Community work 1s the process of delivering Social Welfare Services’ 13 conceptualized by

(1) Arthur Dunham (2) Ross

(3) Rothman (4) Trecker



Options:

61547537917, 1
61547537918 2
E1547527319. 2
61547537920 4

Question Number : 55 Question Id : 6154759725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  3712R S789 gRT (2) T gR
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Options:

B1547537917. 1
61547537918, 2
615475373919 3
61547537320, 4

Question Number : 56 Question Id : 6154759726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are four core mandates of social work profession?

(1) Charity. welfare. development and empowerment

(2) Social change. social development, social cohesion, empowerment and liberation of
the people

(3) Problem solving, growth, adjustment and social functioning

(4) Social justice., human rights, life skills and quality of life
Options:

15475379211

61547537922 2

1547537923 2

E1547537524, 4

Question Number : 56 Question Id : 6154759726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547537921, 1
61547537922 2
61547537323 2
61547537324 4

Question Number : 57 Question Id : 6154759727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The influence of a rater’s general impression on ratings of specific ratee qualities is known as

(1) Halo effect (2) Lemency problem
(3) Recency effect (4) Unclear standards problem
Options:

E1547537925. 1
B1547537926. 2
B1547537927. 3
E1547537928. 4

Question Number : 57 Question Id : 6154759727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475379251
E15475373926. 2
E1547537927. 3
E1547537928. 4

Question Number : 58 Question Id : 6154759728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Later childhood iz called the ‘gang age’ because.

(1) Children are away from achievement orientation
(2) Children learn to control the overt expression of the emotions
(3) Children are interested in activities with their peers and conform to the patterns of

behaviour of its members

(4) Children at this age become ‘bossy’ and domineering
Options:
1547537929 1
61547537920 2
1547537931 2
E1547537932. 4

Question Number : 58 Question Id : 6154759728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547537929, 1
61547537920 2
E15475327921. 2
61547537932 4

Question Number : 59 Question Id : 6154759729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Bereavement counselling 1s given to

(1) Help overcome infertility problems (2) Overcome stress of domestic abuse
(3) Help overcome loss of loved one (4) PTSD perszons
Options:

61547537923, 1
61547537934, 2
E1547537935. 3



E1547537936. 4

Question Number : 59 Question Id : 6154759729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547537933, 1
61547537934 2
61547537335 2
615475379326 4

Question Number : 60 Question Id : 6154759730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The type of diagnosis which 1s not described by Pearlman 1s

(1) Dynamic diagnosis (2) Clinical diagnosis
(3) Gestalt diagnosis (4) Etiological diagnosis
Options:

61547537937, 1
61547537938, 2
E1547537939. 3
E1547537940. 4

Question Number : 60 Question Id : 6154759730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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()  wfosfia fFem 2 Jafh= Fem
(3) W= Fem (4) =g Fefl (Etiological) F2m

Options:
E1547537937. 1

B1547537938. 2
B1547537939. 3
61547537940, 4



Question Number : 61 Question Id : 6154759731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who propounded seven principles of worker-chent relationship?

(1) Hamilton Gordon (2) Swithun Bowers
(3) Felix Biestek (4) H.H. Pearlman
Options:

61547537941, 1
B1547537942 2
B1547537943. 3
B1547537944. 4

Question Number : 61 Question Id : 6154759731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475279411
61547537342 2
E1547537943. 3
E1547537944. 4

Question Number : 62 Question Id : 6154759732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The statement that “social group work 1z concerned with normal persons and social case

work with abnormal persons™ may be considered as

(1) completely wrong and incorrect statement
(2) partially correct statement
(3) partially incorrect statement

(4) one of the goal of the social work
Options:

15475237945 1

1547537946 2

1547537947 2

15475279458, 4

Question Number : 62 Question Id : 6154759732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“graifEE HHE FE G G 8 HEiad 2 AN SETE A e SEE A § g6 7

9 FI Afeigd § O #0599

(1) Ui T H G F (2) M &9 § HEl HYH
(3)  IE = H LG FH (4) TETE FHE T UF T
Options:

E1547537945. 1
E1547537946. 2
B1547537947. 3
61547537948, 4

Question Number : 63 Question Id : 6154759733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Social group work 1s basically related with

(1) development of the identity

(2) development of the personality

(3) development of standard programmes
(4) development of ways of working for group members
Options:

615475379459 1
E1547537350. 2
E1547537951. 3
E1547537952. 4

Question Number : 63 Question Id : 6154759733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  w==E = fawE (2) =afFaa =1 T
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Options:

615475379459 1
E1547537350. 2
615475373951, 3
E1547537952. 4

Question Number : 64 Question Id : 6154759734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following 1= the goal of social planning model of community organization
practice given by Rothman?

(1) Problem solving of substantive community problems

(2) Shifting power and resources

(3) Self-help and community integration

(4) Organising people to take action against enemy target

Options:

£15475379532. 1
61547537954, 2
61547537955,
61547537356 4

Question Number : 64 Question Id : 6154759734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  =WYd gHeEs guenal + oo gue garaE
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Options:

61547537953, 1
61547537954 2
615475379355 2
61547537356 4

Question Number : 65 Question Id : 6154759735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Device for assessing interpersonal attraction. rejection and power 1s known as

(1) Soclometry (2) Counselling
(3) Social case work (4) Social action
Options:

BE1547537957. 1
61547537958, 2
6154753739549, 3
E1547537360. 4

Question Number : 65 Question Id : 6154759735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  FwT=mE (2) T (w=m)
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Options:

E15475378957. 1
E1547537958. 2
B1547537959. 3
61547537960, 4

Question Number : 66 Question Id : 6154759736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many principles of community organization were given by Dunham?

(21 (2) 28
3 27 4) 26
Options:

E1547537961. 1
B1547537962. 2
B1547537963. 3
E1547537364. 4

Question Number : 66 Question Id : 6154759736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 21 (2)y 28
(3) 27 4y 26
Options:

E15475375961. 1
E1547537962. 2
BE1547537963. 3
51547537964, 4

Question Number : 67 Question Id : 6154759737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 12 not a method of getting people’s participation?

(1) Non-formal interviews
(2) Social and resource mapping
(3) Participative observation

(4) Establishing no contact with community leadership



Options:

61547537965, 1
1547537966 2
E15475373E7. 2
1547537968, 4

Question Number : 67 Question Id : 6154759737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeATeliEa § & i °@1 59 9FiER] Ted 6 W i A B ¢

(1) FETTHS T1ETRT (2) TETH AT TETEAT 5 GEEE
(3)  HEWIEET uEm (4) THEEF e T HE T TATT 7 HET
Options:

61547537965, 1
615475373966, 2
E1547537367. 3
E1547537396E. 4

Question Number : 68 Question Id : 6154759738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of ‘Gestalt’” meaning ‘in its totality’ or in aggregate configuration’ formed as a
result of interaction between client and environment 1s used in

(1) Social case work (2) Social group work
(3) Community organisation (4) Social work research
Options:

E1547537396%5. 1
B1547537970. 2
B1547537971. 3
B1547537972. 4

Question Number : 68 Question Id : 6154759738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tt AR TAE F A AAEA  Foaed sH e S99 m@Euar § @ Fhel #@taaE ° O
ATFETOT T U e = 2 7

(1)  =mEifss diFas wE (2) T THE F
(3) Hu_ljr:_ﬁéhr. A (4) FAF =74 g
Options:

615475373969, 1
B1547537970. 2
B1547537971. 3
B1547537972. 4



Question Number : 69 Question Id : 6154759739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which type of sampling method 1s ideally suited where there 1z no knowledge about
population?

(1) Convenient sampling (2) Purposive sampling
(3) Quota sampling (4) Snowball sampling
Options:

E1547537973. 1
E1547537974. 2
B1547537975. 3
B1547537976. 4

Question Number : 69 Question Id : 6154759739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FAEE Ged H1S gEA1 7 7H B [Tt § ufdgyE (Gufe) 1 FE o1 o 3w B 2 7
(1)  giaarsT= videeA (2) gy vlae

(3) e wiageH (4) e Wi

Options:

615475379731
61547527974, 2
E1547537975. 3
B1547537976. 4

Question Number : 70 Question Id : 6154759740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The sampling procedure which does not afford any basis for estimating the probability that

each item in the population has been included in the sample 1s

(1) Probability sampling (2) Non probability samphng
(3) Cluster sampling (4) Quota sampling
Options:

B1547537977. 1
B1547537978. 2
E1547537979. 3
61547537380, 4

Question Number : 70 Question Id : 6154759740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



iaaeE (Tufert) &1 97 ugfd, 5 o0 SWifEar 1 9T F9A H AW 39eed 98] #1796 giaee 9
STHIET 1 UedH HE Wi 7, HEengd 3 ° 991 eardl 7 7

(1)  weriaar afage (2) T-—wHTTEA Afae
(3) = (Fore) uiaEe (4) e wfaeeE
Options:

B1547537977. 1
B1547537978. 2
B15475379759. 3
61547537350, 4

Question Number : 71 Question Id : 6154759741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A definite plan for obtaining a sample. a technique or a procedure for obtaimnming a sample
from a frame 1s known as

(1) Sampling design (2) Parameter
(3) Sampling frame (4) Universe mapping
Options:

61547527951, 1
E1547537982. 2
E1547537983. 3
E1547537984. 4

Question Number : 71 Question Id : 6154759741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UF B H UiAEs U FA H G 41 9 i gHivEe mrs # et 9 9 e e § Se S E|

(1)  ufaese feamEA (2) T
(3)  widesia %4 (4) HH" "
Options:

E15475378981. 1
E1547537982. 2
B1547537983. 3
61547537984, 4

Question Number : 72 Question Id : 6154759742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An ‘authority’ 1s
(1) legitimised power (2) absolute power

(3) dominant power (4) muscle power



Options:

61547537985, 1
61547537986 2
E1547537387. 2
61547537988, 4

Question Number : 72 Question Id : 6154759742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UE UIaE #

(1)  Fenfes wifaa (2) =gl Tt

(3) T T (4) =R wfE
Options:

51547537985, 1
61547537986, 2
E15475373987. 3
61547537358, 4

Question Number : 73 Question Id : 6154759743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Each man in group is compared with all other members of group and placed 1n simple rank
order, which method of appraizal 1s

(1) Ranking method (2) Rating method
(3) Paired comparison method (4) Grading method
Options:

615475379859, 1
61547537930, 2
61547527931, 3
E15475379392. 4

Question Number : 73 Question Id : 6154759743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) TR Tee (2) Tramm faty
(3 T g @ s faf
Options:

615475379859, 1
61547537930, 2
61547527931, 3
E15475379392. 4



Question Number : 74 Question Id : 6154759744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the process of decision making, understanding of alternative solutions and arranging
them 1n order 1s known as

(1) Saturation (2) Deliberation
(3) Incubation (4) Ilumination
Options:

BE1547537953. 1
61547537954, 2
615475379385 3
E1547537936. 4

Question Number : 74 Question Id : 6154759744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fora == i 9fF § SFfoTE T A HEer S 3% FEHE o F 97 S A6 #

(1) =g (2) femm famst
(3) ECGEL (4) A=
Options:

615475379531
615475379394, 2
E1547537935. 3
61547537936, 4

Question Number : 75 Question Id : 6154759745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s not part of accountability audit?

(1) Review of consistency of project expenditures
(2) Review of the dependability and accuracy of records of expenditure
(3) Review of the allocation of resources

(4) Evaluating the smitability of project policies
Options:

154752379971

C1547537998 2

61547537999 2

E1547538000. 4

Question Number : 75 Question Id : 6154759745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547537997, 1
61547537998 2
E1547527399 2
61547538000, 4

Question Number : 76 Question Id : 6154759746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(3

‘Social Planning’ 1z referred to as *

* when 1t takes place 1n community settings.

(1) Micro Planning (2) Neighbourhood Planning
(3) Mezzo Planning (4) Grass Root Level Planning
Options:

E1547538001. 1
E1547538002. 2
E1547538003. 3
51547538004, 4

Question Number : 76 Question Id : 6154759746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HETtT A 79 AgeTEs v a - § w2 2 a1 55 el AT 2
(1) 7= e (2) wfeaeh farm
(3) SEIRERIED (4) TTEe T A

Options:

E1547538001. 1
B1547538002. 2
51547538003, 3
61547525004, 4

Question Number : 77 Question Id : 6154759747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Sustainable Development Goals are with targets that all UN
member states have agreed.

(1) 169 and 191 (2) 179 and 181
(3) 161 and 189 (4) 159 and 179



Options:

61547538005, 1
61547538006, 2
E1547528007. 2
61547538008, 4

Question Number : 77 Question Id : 6154759747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HAad fawE = & =& 7 T A T T2 G259 <91 HEAd ' 0 #)
(1) 169 =it 191 (2) 179 sk 181

(3) 161 =i 189 (4) 159 =7 179
Options:

61547528005, 1
E1547538006. 2
B1547538007. 3
51547538008, 4

Question Number : 78 Question Id : 6154759748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The total number of indicators listed in the global indicator frame work of Sustainable
Development Goals 1s

(1) 244 (2) 230
(3) 249 (4) 232
Options:

E1547538003. 1
E1547538010. 2
61547538011, 3
61547538012 4

Question Number : 78 Question Id : 6154759748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tad fasm == + ATas g9 wuaE 0 geieg guh il Bl T 2|

(1) 244 (2) 230
(3) 249 (4) 232
Options:

E1547538003. 1
61547538010, 2
51547538011, =
E154753801%2. 4

Question Number : 79 Question Id : 6154759749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following Schedules of Indian Constitution deals with the powers, authority and
responsibility of Panchayats?

(1) 8th Schedule (2) 9t Schedule
(3) 11tk Schedule (4) 12tk Schedule
Options:

51547538013, 1
61547538014, 2
61547538015 3
61547528016, 4

Question Number : 79 Question Id : 6154759749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 8+ sg=t (2) 9 gl
(3) 11 df g (4) 123 s
Options:

61547538013, 1
61547538014, 2
61547538015 3
61547528016, 4

Question Number : 80 Question Id : 6154759750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Articles of the Indian Constitution speaks about the orgamisation,
powers and functions of the Village Panchayats?

(1) Art. 39 (2) Axrt. 40
(3) Art. 41 (4) Art. 42
Options:

E1547538017. 1
61547538018, 2
615475380149, 3
61547528020, 4

Question Number : 80 Question Id : 6154759750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =77=== 39 (2) =% 40
(3) =z 41 (4) =oe 42

Options:



E1547538017. 1
61547538018, 2
515475380145, 3
E1547538020. 4

Question Number : 81 Question Id : 6154759751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

India has a legal system whose infrastructure bears the influence of British
colonial rule.

(1) Civil law (2) Common law
(3) Criminal law (4) Administrative law
Options:

E1547538021. 1
E1547538022. 2
E1547538023. 3
BE1547538024. 4

Question Number : 81 Question Id : 6154759751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Iid § v ot s 7 fas snanyy = W fafon sinfaEfes o = awmE 2

(1) e (9) =i fafa
(3) == fafu (4) wEmEtE fafy
Options:

E1547538021. 1
E1547538022. 2
B1547538023. 3
51547538024, 4

Question Number : 82 Question Id : 6154759752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The 42rd Constitutional Amendment has inserted having a set of Fundamental
Duties of Indian citizens.

(1) Part-IV with Art. 51 A (2) Part-IV-A with Art. 51 A
(3) Part-V-A with Art. 50 A (4) Part-V-B with Art. 51
Options:

E1547538025. 1
61547538026, 2
E1547538027. 3
B1547538028. 4

Question Number : 82 Question Id : 6154759752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

42 3 FEYH FIeH T YRAE A0 F Hife w0 Jg=e ae wa Tenfoa & 2|
(1)  ¥9=32 51-A % @19 97 IV (2) =32 51-A & @y 9r1 IV-A

(3) =% 50-A % =1y 9 V-A (4) #T==% 51 =% =g W V-B

Options:

51547538025, 1
61547538026, 2
61547538027, 3
E1547538025. 4

Question Number : 83 Question Id : 6154759753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Find the Odd man out :

(1) Arbitration (2) Adjudication
(3) Conciliation (4) Collective Bargaining
Options:

61547528029, 1
E1547538020. 2
E1547538021. 3
B1547538032. 4

Question Number : 83 Question Id : 6154759753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafEa 8 o faom =+ gfen

(1) oA (2) et

(3) = (4) THEF FreET
Options:

E1547538029. 1
61547538020, 2
51547538021, 3
61547538032, 4

Question Number : 84 Question Id : 6154759754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

All forms of physical. sexual. verbal. emotional and economic abuse that can harm, cause.
injury to endanger health safety, life or well being either mental or physical of the aggrieved
persons are covered under

(1) Sexual harassment (2) Domestic violence

(3) Molestation (4) Criminal intimidation

Options:



E1547538023. 1
61547538024, 2
51547538035, 3
61547538036, 4

Question Number : 84 Question Id : 6154759754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547538023. 1
61547538024, 2
61547538035, 3
E1547538036. 4

Question Number : 85 Question Id : 6154759755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Persons with ‘benchmark disabilities’ are defined as those certified to have at least
percent of the disabilities specified in the Rights of the Persons with Disability Act, 2016.

(1) 35 (2) 40
(3) 45 (4) 50
Options:

51547538037, 1
61547538028, 2
61547528039, 3
E1547538040. 4

Question Number : 85 Question Id : 6154759755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fomam sifumr sfafem, 2016 4 faffEe= f=mms 4 & =Fa8 fama fe=rma & fom
TATTo =Afaat ® s e (eetated=) ot =aieat & =0 1 aioqtea e = 2
(1) 35 (2) 40
(3) 45 (4) 50
Options:

E1547538027. 1
61547538038, 2
E1547538029. 3
E1547538040. 4



Question Number : 86 Question Id : 6154759756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Prevention of Sexual Harassment at Work Place Act mandates
(a) drafting a compliance policy

(b) constituting a ICC committee

(c) recrult more women employvees

(d) train emplovees on the law

Choose the correct answer from the options given below:

(L (2). (b) and (d) only (2)  (b). (c) and (d) only
(3) (c). (d) and (a) only (4) (a). (b) and (c) only
Options:

E1547538041. 1
E1547538042. 2
51547538043, 3
51547538044, 4

Question Number : 86 Question Id : 6154759756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a)  TIEA AE W FEEE S
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(1)  #ad (a). (b) 3R (d) (2) == (). () F (d)

(3) a9 (c). (d) ¥ (a) 4) T (a). (b) T (c)
Options:

E1547538041. 1
B154753804%. 2
61547538043, 3
61547535044, 4

Question Number : 87 Question Id : 6154759757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TUNCRC draws attention to the following sets of civil, political, social. economic and cultural

rights except

(1) Survival (2) Protection
(3) Livelihood (4) Participation
Options:

£1547538045. 1
61547538046, 2
E1547538047. 3
E15475380458. 4

Question Number : 87 Question Id : 6154759757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T A | AR @ eAeiEd § I BigF fafae, wsHifaE, s A weptas Atawa +
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(1)  IosltEar (2) =M
(3) SATATERT (4) HEAITE
Options:

E1547538045. 1
E154753804E. 2
B1547538047. 3
615475350458, 4

Question Number : 88 Question Id : 6154759758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The acronymn 'UNFCC’ does stand for

(1) United Nations Fund for Control and Check of Carbon emission
(2) United Nations Fund for Consortium of Climate Control

(3) United Nations Framework Convention on Climate Change

(4) Umnited Nations Framework on Climate Change Control
Options:
1547538049 1
1547538050 2
15475202051, 2
1547538052 4

Question Number : 88 Question Id : 6154759758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547538049, 1
61547538050 2
61547538051, =
61547538052 4

Question Number : 89 Question Id : 6154759759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The ILO’s International Programme on Elimination of Child Labour (IPEC) was imitiated in

the vear

(1) 1986
(2) 1952
(3) 1999
(4) 2006
Options:

E1547538053. 1
E1547538054. 2
E1547538055. 3
51547538056, 4

Question Number : 89 Question Id : 6154759759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 1986
(2) 1992
(3) 1999
(4) 2006
Options:

E1547538053. 1
61547538054, 2



E1547538055. 3
51547538056, 4

Question Number : 90 Question Id : 6154759760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

“CARA” 15 functioning under the Minmistry of

(1) Social Justice and Empowerment
(2) Social Welfare

(3) Women and Child Welfare

(4) Health and Family Welfare

Options:

61547538057, 1
61547538058, 2
E1547528059 =2
61547538060, 4

Question Number : 90 Question Id : 6154759760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547538057, 1
E1547528058. 2
61547538059, 5
61547538060 4

Question Number : 91 Question Id : 6154759761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The professional social work has i1ts origin in

(a) Charity and religious teaching
(b) Philanthropic activities and humanitarian motivations
(c) Social reform movements

(d) Democratic ideologies

Choose the correct answer from the options given :

(1) (a). (b) and (c) only (2) (a). (b) and (d) only

(3)  (b). (c) and (d) only (4) (a), (b), (c) and (d)
Options:

61547538061,
61547538062,
E154753R8063.
61547528064,

o IR

Question Number : 91 Question Id : 6154759761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fa (a). B)F (0) (2) Fa (a). (b) 3 (d)
(3)  Fae (b). (©) F (d) @) (a). (b).(c) T (d)
Options:

51547538061, 1
61547538062, 2



E1547538063. 3
51547538064, 4

Question Number : 92 Question Id : 6154759762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which among the following are not the main assumptions in social case work proposzed by

Gordon Hamilton?

(1) the individuals and society are interdependent
(2) social forces influence behaviour and attitude

(3) behaviour i1s accidental and cannot be understood
(4) the welfare of the society 13 supreme

Choose the correct answer from the options given below :

(1) (a) only (2)  (b) only
(3) (a) and (b) only (4) (c) and (d) only
Options:

61547528065, 1
61547538066, 2
E1547538067. 3
E1547538068. 4

Question Number : 92 Question Id : 6154759762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(b)  THITAF ATRd =A9ER 9 ATGI F TUIEd Al 7

(¢)  =Ha=F AYCANEE =21 & AR 59 "9z 481 71 gl

(d) HHTS T e FEM 2

e fow o fameat 6 | @A fawew =4

(1) a4 (a) (2) = (b)

(3) FAd (a)F (b) 4) FF9 (0) 7 (d)
Options:

51547538065, 1
61547538066, 2
61547538067, 3
E1547538065. 4

Question Number : 93 Question Id : 6154759763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has given theories to explain the development of "self’?

(a) C.H. Cooley
(b) G.H. Mead
(c) Sigmund Freud

(d) Mc Dougall

Choose the correct answer from the obtions given below :

(1) (a) and (b) only (2) (c)and (d) only
(3) (a) and (d) only (4) (a). (b) and (c) only
Options:

E15475280649. 1



E1547538070. 2
61547538071, 3
B1547538072. 4

Question Number : 93 Question Id : 6154759763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)  H.m=. T
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(c) THTHY S Hiss
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(1) 3= (a) T (b) (2) = (c) T (d)
(3) A (a) T (d) (4) Fa= (a). (b) 7 (c)
Options:

515475380645, 1
E1547538070. 2
61547528071, 3
E1547538072. 4

Question Number : 94 Question Id : 6154759764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the theories and their advoeates.

Theories Advocates
(a) Social learming theory (1)  Albert Bandura
(b) Transpersonal theory (11) Erikson
(c) Psychodynamic theory (m) Sigmund Freud
(d) Psychosocial theory (av) Carl Jung

Choose the correct options from those given below :

1D (@)-@). (b)-av), (c)-(ii). (d)-(11)
2)  (a)-@). ()-Gi). (e)-av). (d)-@)
(3)  (a)-Gai). (b)-(11). (c)-(). (d)-Gv)
@ (@)-@). (b)-Q), (c)-(1). (d)-(i1)

Options:

61547538073, 1
61547538074 2
61547538075 2
E15475328076. 4

Question Number : 94 Question Id : 6154759764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Togr=a) ()
(a) =ENTH g g (i) T w=T
(b) TW FAfFaE oS (i) Ui
(c) AT g (i) TmTs FiEs
(d) FAEETTE Hg (iv) = =

(1) (@-Q). (b)-Gv). (¢)-(i1), (d)-(1)
(2)  (a)-(i). (b)-(ii). (e)-(iv). (d)-(D)
(3) (a)-(111). (b)-(i1). (c)-(1). (d)-(iv)
4 (@)-(v). (b)-(1). (e)-(1l). (d)-(iiD)

Options:



E1547538073. 1
61547538074, 2
51547538075, 3
61547538076, 4

Question Number : 95 Question Id : 6154759765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The favourable outcomes of early adulthood are

(a) give and receive love
(b) ability to commit oneself
(c) distancing oneself from other

(d) developing one’s 1dentity to others

Choose the correct answer from the options given below :

(1)  (a). (b) and (d) only (2)  (b). (c) and (d) only
(3) (o). (a) and (d) only (4) (a), (b) and (c) only
Options:

E1547538077. 1
E1547538078. 2
61547538075, 3
51547538080, 4

Question Number : 95 Question Id : 6154759765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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fau o fasedt 5 wE 5o 9

(1) == (a), (b) T (d) (2) F=FE (). (©)F (d)
(3)  Fa9 (0). (a) T (d) @) Fa9 (). () T (0)
Options:

E1547538077. 1
B1547538078. 2
61547538075, 3
61547538080, 4

Question Number : 96 Question Id : 6154759766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following statements are correct with regard to social structure?

(a) Social structure 1n an abstract phenomenon

(b) Social associations and institutions are part of it

(c) Social associations create the pattern of social structure

(d) Social structure 1s a patternized arrangement of communities 1n a soclety

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) (c) and (d) only
(3)  (d)only (4) (a). (b) and (c) only
Options:

£15475328081. 1
E1547528082. 2



E1547538083. 3
51547538084, 4

Question Number : 96 Question Id : 6154759766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) TS TEAT U S TEeT 2

(b)  WHIAH UTANGUTH I TEIE 5HF (B B

(c)  HTHIS UHNHUIH, HHENTH S = TaA 3091 Fid 7|

(d) =TS WO U HETH 4 HEEET SRl Ao SaEe 2|

(1) a4 (a)F (b) (2) Fa (o) 7 (d)
(3)  Fad (d) (4) === (a). (b) T (c)
Options:

61547528051, 1
E1547538082. 2
E1547538083. 3
51547538084, 4

Question Number : 97 Question Id : 6154759767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The Principle of Progressive Programme Experience in social group work means that.

(a) there 1s a starting point of the programme
(b) the programme should not be decided by external agency
(c) programme should move from simple to complex

(d) programme should be decided by group leader and agency

Choose the correct answer from the options given below :

(1) (a) and (b} only (2) (b) and (c) only
(3) (a). (b) and (c) only (4) (c) and (d) only
Options:

61547528085, 1
E1547538086. 2
E1547538087. 3
51547538088, 4

Question Number : 97 Question Id : 6154759767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HHEITHE TR HE H Wiiel FEwE A9 % g At 2

(a)  THTEE T ARESF fag 7
(b)  TFHEEH AT ATYF (agency) B Hiv=a 7 AT WA
(¢)  THHEFA Tl WA ¥ AfeeA Fl AT F

(d)  FEEEH GHE = A1 A AT g e Tw e

= fou o faweTl 4§ T 3o A

() A (a) 9 (b) (2) #FaA (b) F (c)
(3) = (a). (b) T (c) (4) Fa9 (¢) T (d)
Options:

61547528085, 1
E1547538086. 2



E1547538087. 3
51547538088, 4

Question Number : 98 Question Id : 6154759768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who 12 a ‘client’ 1n Social Case Work?

(a) Client 1s an individual in difficulty

(b) Client 1s an individual facing some problems of hiving
(c) Client may be suffering and afflicted with social or cultural deviation
(d) Client 1s 1n some kind of danger and referred by another agency or on his own for help

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) (a). (b) and (c) only
(3) (a) and (d) only (4) (a). (b). (c) and (d)
Options:

61547528059, 1
E1547538030. 2
E15475380391. 3
51547538082, 4

Question Number : 98 Question Id : 6154759768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  =ast (a) 7 (b) (2) === (a), (b) T (c)
(3) Fad (a) T (d) (4) =FFF (a). (b). ()T (d)

Options:

61547538089, 1
61547538090 2
1547528091, =2
61547538092, 4

Question Number : 99 Question Id : 6154759769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Techniques of selling model in community organization are

(a) Informal discussions

(b) Film shows
(c) Wall posters

(d) Conducting interview for problem solving

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) (a). (b) and (c) only

(3) (a), (b) and (d) only (4) (c) and (d) only

Options:



E1547538083. 1
61547538084, 2
61547538085, 3
E1547538036. 4

Question Number : 99 Question Id : 6154759769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)  FEEETCS ==
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()  Fa () (b) (2) F (a). () T (0)

(3) FA (a). 0b) T (d) (4 F99 (0) T (@)
Options:

E1547538033. 1
61547525034, 2
E15475380385. 3
E15475380396. 4

Question Number : 100 Question Id ;: 6154759770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The characteristic(s) of community development 1s/are

(a) It 13 a movement
(b) Designed to promote better hving of whole commumnity
(c) Active participation of community

(d) Disintegration of community

Choose the correct answer from the options given below :

(1)  (a) and (b) only (2) (a). (b) and (c) only
(3)  (a). (c) and (d) only (4)  (b). (c) and (d) only
Options:

615475280397, 1
E15475380398. 2
B1547538099. 3
51547535100, 4

Question Number : 100 Question 1d : 6154759770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) Fa= (a) T (b) (2) F (a). (b) T (c)

(3)  =a9 (a). (c) T (d) @) a9 (b). (c) T (d)
Options:

61547528037, 1
615475380358, 2



E154753803945. 3
51547535100, 4

Question Number : 101 Question Id : 6154759771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Robert Redfield, the basic features of little community are:

(a) Small size
(b) Distinctiveness
(c) Self—Sufficiency

(d) Heterogeneity of inhabitants

Choose the correct answer from the options given below :

(1) only (a) and (b) only (2) only (a). (b) and (c) only
(3)  only (a). (b) and (d) only (4) (a). (b). (c) and (d)
Options:

E1547538101. 1
E1547538102. 2
61547538103, 3
51547535104, 4

Question Number : 101 Question Id : 6154759771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) = (a) T (b) (2) Fa4 (a). (b) 7 (0)

(3) = (a), (0) T (d) @) F=F (a). (b). () T (d)
Options:

515475238101, 1
61547538102 2
61547538103, 3
61547525104, 4

Question Number : 102 Question Id : 6154759772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Criterion related validity in Research should possess the following qualities

(a) A criterion is relevant, if it 1s defined in terms of what we judge to be the proper
measure

(b) Freedom from bias when the criterion gives each subject an equal opprtunity to score
well.

(c) A reliable eriterion 1z stable or reproducable

(d) The information specifed by the criterion must be available

Choose the correct answer from the options given below :

(1) (a). (b) and (c) only (2)  (b). () and (d) only

(3)  (a). (b) and (d) only 4) (a). (b). (c) and (d)

Options:



E1547538105. 1
61547538106, 2
61547538107, 3
61547525108, 4

Question Number : 102 Question Id : 6154759772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) 39 (), () 3 (o) (2) =4 (b). (©) T (d)
(3) = (a). b)d (d) @) Fa4 (). (b). (©)F (@)
Options:

5154752381051
61547538106, 2
61547538107, 3
61547525108, 4

Question Number : 103 Question Id : 6154759773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If the instrument contains a representative sample of the universe, i1t means

(a) The outcome cannot be predicted
(b) The content validity is good
(c) There 1s freedom from bias

(d) The representation can be judgemental and intuitive

Choose the correct answer from the options given below :

(1) (a). (b) and (c) only (2)  (b). (c) and (d) only
(3) (b) and (c) only (4) (c) and (d) only
Options:

615475281091
615475258110, 2
E1547538111. 2
E1547538112. 4

Question Number : 103 Question Id : 6154759773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) === (a). () 3 (c) (2) == (b). (©) 7 (d)
(3) Fad () (o) (4) F= (0) F (d)
Options:

61547528109, 1
E1547538110. 2



E1547538111. 3
61547538112 4

Question Number : 104 Question Id ;: 6154759774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The three questions that are highly relevant in the context of stratified sampling are:

(a) How to form strata?
(b) How should items be selected from each stratum?
(c) How can the strata be convenmiently approached?

(d) How many items can be selected from each stratum or how to allocate the sample size

of each stratum.

Choose the correct answer from the options given below :

(1) (2. (b) and (c) only (2) (a)and (b) only
(3)  (a).(b) and (d) only (4)  (b). (c) and (d) only
Options:

6154752381121
615475358114, 2
615475358115 3
61547525116 4

Question Number : 104 Question Id : 6154759774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) %= (a). (b) 3 (c) (2) == (a)F (b)

(3) e (). (b) T (d) (4) =FAF (). (0) F (d)
Options:

£1547538112. 1
615475258114, 2
E1547538115. 3
B1547538116. 4

Question Number : 105 Question Id ;: 6154759775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following can be found in an organisation?

(a) A formal shape of decision making
(b) Division of roles and responsibilities
(c) Rules of conduct and behaviour

(d) Absence of hierarchy

Choose the correct answer from the options given below :

(1) (2 and (b) only (2) (a). (b) and (c) only
(3) (a) and (d) only (4) (a). (b). (c) and (d)
Options:

E1547538117. 1
E1547538118. 2
61547538115, 3



E1547538120. 4

Question Number : 105 Question Id : 6154759775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
freAfeqfias O | U Tad ° O A w2

(b) qIRTAT F SravaTiedl 1 g2
(c) ST =HEER # a0

(d)  TEHEFH F T

fefetEs 4 7 =61 3w 94 ¢

(1) == (a)T (b) (2) ae (a). (b) T (¢)

(3)  =ae (a) T (d) (4) == (a). (b). ()T (d)
Options:

E1547538117. 1
61547538118, 2
6154752581149, 3
615475258120, 4

Question Number : 106 Question Id : 6154759776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Means Test’ 1s done 1n

(a) Availability of social services
(b) Availability of social welfare services
(c) Availability of services to economically weaker sections (EWS)

(d) Availabilty of services to tribals

Choose the correct answer from the options given below :

(1)  (a). (b). (c) and (d) (2)  (b). (c) and (d) only
(3) (a) and (d) only (4) (a), (b). and (c) only
Options:

61547528121, 1
E1547538122. 2
E1547538123. 3
61547538124, 4

Question Number : 106 Question Id ;: 6154759776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a). (). ()7 (d) (2) A= (b), (0) T (d)
(3) A (a) 3 (d) (4) A (a). (b) T (¢)
Options:

61547538121, 1
61547538122 2
615475258122 3



E1547538124. 4

Question Number : 107 Question Id : 6154759777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Whach are the typical characteristics of bureaucrats?

(a) Dependence on regulations
(b) Impersonal relations
(c) Great votary of rules and procedures

(d) Indifference from rghts and priveleges of office

Choose the correct answer from the options given below :

(1) (a) and (d) only (2) (a), (b) and (d) only
(3)  (a). (b) and (c) only (4) (a). (b). (c) and (d)
Options:

B1547538125. 1
61547538126, 2
61547538127, 3
615475258128, 4

Question Number : 107 Question Id : 6154759777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1)  Fa (2) 7 (d) (2) === (a). (b) 3 (d)

(3) ¥4 (a), (b) 4 (c) (4) Fa= (a), (b). (@) F (d)
Options:

515475381251
61547538126, 2
61547528127, 3
E1547538128. 4

Question Number : 108 Question Id : 6154759778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation method 1s ideally suited for the study of

(a) Tribal culture
(b) National culture
(c) Ethnographic culture

(d) Phenomena of Globalization

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) (a). and (c) only
(3) (a) and (d) only (4) (c) and (b) only
Options:

615475381291
61547538130, 2



E1547538121. 3
61547538132, 4

Question Number : 108 Question Id : 6154759778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475281291
E1547538120. 2
51547538121, 3
61547538132, 4

Question Number : 109 Question 1d : 6154759779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which among the following are the main goals of five vear plans in India?

(a) Growth

(b) Modernisation
(c) Self reliance
(d) Equality

(e) Equity

Choose the correct answer from the options given below :

(1) (a), (c) and (e) only (2) (b). (d) and (e) only

(3) (c) and (d) only (4) (a). (b). (c) and (d) only
Options:
1547535135,
E1547535134.
61547538135
15475381356

[ N S

Question Number : 109 Question Id : 6154759779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

61547538133, 1
1547538124 2
E1547528135 2
61547538126, 4

Question Number : 110 Question Id : 6154759780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The main aims of NITI Aavog are

(a) to achieve Sustainable Development Goals
(b) to enhance cooperative federalhism
(c) to adopt a bottom-up approach in policy making process

(d) to provide safety and security against threats

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) (c) and (d) only
(3 (a). (b) and (c) only (4) (2). (b). and (d) only
Options:

51547538137, 1
61547538128, 2
615475258139, 3
E1547538140. 4

Question Number : 110 Question Id : 6154759780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a)  =dd fa=E =+ =5 e e
(b)  HEEE HEAM F HIE
(©  ifd 7w F1 viwn o §= 7 = fi an gfewm F= aEw F=

(d) A H G T g TR

Freferion 9 9 =81 3o =

(1) =< (a) T (b) (2) Fa (¢) T (d)

(3) FF9 (a). b) T (c) (@) Fa= (a). (b) T (d)
Options:

61547528137, 1
E1547538138. 2
51547538139, 3
51547535140, 4

Question Number : 111 Question 1d : 6154759781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Article 19 of the Indian Constitution ineludes which of the following

(a) Freedom of speech and expression
(b) Freedom of assembly

(c) Freedom of entertainment

(d) Freedom of movement

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) (a). (b) and (c) only
(3) (a). (b) and (d) only (4) (a). (b). (c) and (d)
Options:

E1547538141. 1
61547538142 2
61547535143, 3



E1547538144. 4

Question Number : 111 Question Id : 6154759781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
YT F B9 & 392 19 7 Fefetaa 7 7 %4 o afefea

(a) @ W A= i =aEa

(b)  EA T HI TAT

(c) AATS =i e

(d) STETTHA T ST

I fau fawea © o8 39 JE_FI

(1) =39 (a) 311 (b) (2) FA4 (a). (b) 3 (0)
(3)  Fa (a). (b) 37 (d) @) (a). (b). (c) 377 (d)
Options:

E1547528141. 1
61547525142 2
E1547538143. 3
E15475358144. 4

Question Number : 112 Question Id : 6154759782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the duties have been prescribed by Indian Constitution for the citizens of India?

(a) To develop scientific temper
(b) To preserve rich heritage of our composite culture
(c) To maintain income inequalities

(d) To defend the country

Choose the correct answer from the options given below :

(1)  (a)only (2) (a) and (b) only

(3) (). (b) and (c) only (4)  (a). (b) and (d) only



Options:

561547538145, 1
61547538146 2
E1547528147. 2
615475238148, 4

Question Number : 112 Question Id : 6154759782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT HEE™ g 9 = AT o 0 Hi H Fasd g e e E 7

(a) IF O # TaEm

(b)  FEEI WiSE TEH 6 Ag GET T oEEw
(c) AT H1 ATAEAIAT 1 SO T

(d = F T

fr= T2 fasedt © w8 3o 9

(1) a9 (a) (2) = (a) AT (b)
(3) ¥ (a). (b) 3T (c) (4) I (a). (b) 3T (d)
Options:

E1547538145. 1
B154753814E. 2
61547538147, 3
61547525148, 4

Question Number : 113 Question Id : 6154759783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Under which article of the Indian constitution. Union government appoints commissioner for

SCs and STs?

(a) Article 136
(b) Article 338
(c) Article 328

(d) Article 319

Choose the correct answer from the options given below :

(1) (a) only (2) (c) and (d) only
(3) (b) only (4) (d) only
Options:

E15475381459. 1
E1547538150. 2
51547538151, 3
51547538152, 4

Question Number : 113 Question 1d : 6154759783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(a) =25 136
(b) =37 338
(¢)  #d=a32 328

(d)  T==s 319

= 1%117 fahet | P_FFT Er L 1_3‘3 ;

1)  Fa () (2) Fa (c) 3 (d)
(3)  Fa (b) @) Fa (d)
Options:

5154753814591



E1547538150. 2
51547538151, 3
51547538152, 4

Question Number : 114 Question 1d : 6154759784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ego states referred in Transactional Analysis theory include

(a) Child
(b) Parents
(c) Adult

(d)  Sibling

Choose the correct answer from the options given below :

(1)  (a). (b) and (c) only (2) (a). (b). (c) and (d)
(3)  (a)only (4) (a) and (b) only
Options:

61547528152 1
E1547538154. 2
51547538155 3
51547538156, 4

Question Number : 114 Question 1d : 6154759784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TaER favery faga | Heiba #En feafa 9 wiiem #

(a) ELEED

(b)  TET-TUET

(c) TAF

(d)  wE-sfEA

Hra fau o fomeal @ wE Seaw 9w

(1) 4 (a). (b) 3 (¢) (2) (a). (b). () 37 (d)

(3 Fa9 (a) 4 T4 (a) F ()
Options:

61547528152 1
E1547538154. 2
E1547538155. 3
51547538156, 4

Question Number : 115 Question Id ;: 6154759785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The core values guiding all the activities under National Rural Livelihood Mission are

(a) Inclusion of the poorest and meaningful role to the poorest in all the process
(b) Transparency and accountability of all processes and institutions
(c) Ownership and key role of the poor in all stages

(d) Community self-reliance and self-dependence

Choose the correct answer from the options given below :

(1)  (2). (b) and (c) only (2) (a)and (b) only
(3)  (a)only (4) (a). (b). (c) and (d)
Options:

51547538157, 1



E1547538158. 2
51547538159, 3
61547538160, 4

Question Number : 115 Question 1d : 6154759785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T A At e 7dE T SRRt 1 Av- e # 9 e 5o F

(a) TeTam =afFaa = TEEEE SR g9 gt § R @Y g

(b) Tefi UfFmaT 3T TeuEl 5 UnEEr A1 AareEa
(€)  THE =N A 1 e ST gE e

(d)  TgEEE A FEET HJE e

i 'TE'U frpedl H | 'ET':"T 3ol A L

(1) =& (a), (b) 37 (c) (2) =ae (a) 3 (b)
(3) A (a) @ (a). ®). (© 7 (d)
Options:

61547538157, 1
61547538158, 2
61547525159, 3
E1547538160. 4

Question Number : 116 Question Id : 6154759786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I and List IT Which are related to sustainable development goals

(a)
(b)
(c)
(d)

List I
Goal
Goal-2
Goal-4
(Goal-6
Goal-8

@
(i)
(1i1)
@iv)

List IT

Focus
Quality Education
Clean water and sanitation
Zero Hunger

Decent work and Economie Growth

Choose the correct answer from the options given below :

(1) (a)-@). (b)-(11). (c)-(11). (d)-(Gv)
(2) (a)-(1). (b)-(1v). (c)-(G11). (d)-()
(3 (a)-(11). (b)-(1). (c)-(). (d)-Gv)
(4) (a)-@v). (b)-(11). (c)-@). (d)-(112)
Options:

£1547535161. 1

61547538162 2

1547538163 2

1547538164 4

Question Number

Correct Marks: 2 Wrong Marks: 0

1 116 Question Id : 6154759786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



oad faE @5 ¥ gmt-aa g 1= 991 I 5 @19 gaied $iian)

T 1 g= 11
(=) (Fra)
(@) =/ -2 (i) T e
(b) =A@ -4 (1) TE=T 7 AN =eodl
(c) =7 -6 (i) 7 gd
@ =Fm-8 (iv) =T S A
H= fam o et 9 9 wE 3o 91

(1) (a)-Q). (b)-(11). (c)-(1), (d)-(v)
(2) (a)-(11). (b)-(1v). (c)-(111). (d)-(1)
(3)  (a)-(1). (b)-(1), (c)-(11). (d)-(1v)
(4)  (a)-(v). (b)-(D). (c)-(1). (d)-(i11)

Options:

£1547538161. 1
1547528162 2
61547538162
61547535164, 4

Question Number : 117 Question Id ;: 6154759787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the stages of human life cycle with their respective changes

Life cycle Changes
(a) Early childhood (1) Challenges of changes
(b) Infancy (1) Magic vears
(c) Adoloscence (m)} Launching period
(d) Young adulthood (iv) Profoundly influential

Choose the correct answer from the options given below :

(1 (a)-G). (b)-(11), (c)-(a1). (d)-(xv)
2)  (a)-@). (b)-Gii). (c)-Q). (d)-Gv)
(3)  (a)-@). (b)-(v). (c)-G). (d)-(11)
@)  (@-Gw. ()-[@). (e)-av). (d)-0)

Options:

61547538165, 1
61547538166 2
1547528167, 2
61547538168, 4

Question Number : 117 Question Id : 6154759787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(e =) (v )
(a)  TH TR ()  wfEAA = gt
(b) = (i) = T
(c) TeeTOrEEET (iii) TEREA (=) Fe
(d) F=1 FTFHA (1v) FTcaiess T el

S fou T foeReTt © wE I 9

(1) (a)-(1). (b)-(11). (c)-(11), (d)-(v)
(2) (a)-(11), (b)-(111), (e)-(1), (d)-(v)
(3) (a)-(11). (b)-(1v), (e)-(1). (d)-(1i1)
(4) (a)-(11). (b)-(11), (e)-(1v). (d)-(1)

Options:

51547538165, 1

£1547538166. 2

61547538167, 3
E15475358168. 4

Question Number : 118 Question Id : 6154759788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I and List IT

List I List II
(a) Central tendency (1) Mean deviation
(b) Mean dispersion (11) Pearsons coefficient
(c) Correlation (m) Mean
(d) Test of significance (1v) t’ test

Choose the correct answer from the options given below :

(1) (a)-Gai). (b)-Q). (c)-(). (d)-Gv)
2)  (a)-Gv). (b)-(). (c)-G). (d)-(a11)
3 (a)-G11). (b)-(i). ()-Gv). (d)-0)
@  (a)-Q). (b)-(1), (c)-(11). (d)-Gv)

Options:

61547538169,
61547538170,
61547538171,
61547538172,

b LI P

Question Number : 118 Question 1d : 6154759788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tt I =1 gt I o =19 goied =i :

1 == 1T
(a) F=ar WM () e fameE
(b) TR farEs (i) o= o
(c) HE-TEY (iii) ==
(d) H=ea wHE (iv) t Tiiem
FefeTEd faeheat o | wE Fead =9

(1) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(2) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(3) (a)-(111). (b)-(11), (c)-(1v). (d)-(2)

4y (a-1. (b)-(). (e)-(11), (d)-(v)
Options:
615475381691
61547538170, 2
61547538171 3
E1547538172 4

Question Number : 119 Question Id : 6154759789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following Models and Tasks

Models of community organisation Task

(a) System change model (1) approach community by worker with
open agenda

(b) Ultra-directive model (11) Mobilising community and outside
support to put the plan into action

(¢) Institutional model (111) Developing and understanding of the
Iink between micro and macro social
realities

(d) Structural change model (1v) Seeking active government support for

provisions of those services which are
to be provided free or at a minimum
cost to the beneficieries

Choose the correct answer from the options given below :

(1) (a)-(11), (b)-(). (c)-(v). (d)-(111)
2)  (2)-1). (b)-1). (c)-Q). (d)-Gv)
3)  (a)-@). (b)-(w). (c)-@v). (d)-O)
@) (2)-Q). (b)-Q). (c)-(11). (d)-Gv)
Options:

61547538173 1

61547538174 2

61547538175 3
61547538176, 4

Question Number : 119 Question Id : 6154759789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(AT 134 Hisd) (=T )
(a) I gfEae AisA (i) i g1 G HEEE % @Y "I a6 T
(b) AeATTH (3772 FHEmmeaT Ais (i) T F FHENET FH F U FEEE AN
ATEL] THYE ] TeEE H
(c) HEUTH Hise (i) TZH =R geg FENEH AU F fom H
(d) TEATHF TETA Hisd (iv) =it 1 Foes s"er =Fd9 509 W
s He T diEl Sl % TEaEl &

= fou feefeat d @ wR1 3 9T

(1) (a)-@D). b)-@). (e)-Gv). (d)-({ii)
(2) (-1, (b)-), (e)-Q), (d)-{1v)
(3)  (@-1). (b)-(w). (¢)-{v). (d)-(@)
(4) (a)-(1). (b)-(1). (c)-(111). (d)-(1v)

Options:

61547538173 1

61547538174, 2

E1547538175. 3
61547538176, 4

Question Number : 120 Question Id ;: 6154759790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the Journals in the field of social work and the organisations who promoted and are

managing these journals

Journals Organisations

(a) Journals of Social Work Education (1) Nirmala Niketan, Mumbai

Research and Action

(b) Indian Journal of Social Work (11) NAPSWI
(¢) Social Work Perspectives () TISS
(d) Contemporary Social Work (iv) Lucknow University

Choose the correct answer from the options given below :

1) (a)-Gid). (b)-(). (c)-(). (d)-Gv)
(2)  (a)-Gi). (b)-Gii). (c)-(). (d)-Gv)
(3)  (a)-(w). (b)-Gid). (c)-G1). (d)-()
@ (@-0). (b)-Gv), (e)-(1). (d)-(1i)

Options:

61547538177, 1
61547538178 2
61547538179 2
6154753812804

Question Number : 120 Question Id : 6154759790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TOTS FE F HF T Al A7 I TaGE F 99T FEA1 H gufed i
(=) GRER)

(a) T ATF T W TF UgEIA fwd vz () fden feea, ges

TFIH
(b) sfE= SH=1 ATF T 96 (i) vA T vy seeg
(c) |7 % TEIiF2aH (ii1) & 31 T\ ™
(d) =TIl "ETE T (iv) ©ETS T

Hr= fau o w0 @ AR I w1

D) ()-(id), (b)-@D). (e)-(), (d)-(iv)
(2)  (a)-(1). (b)-(111). (c)-(1). (d)-(iv)
(3)  (a)-(v). (b)-(m1). (¢)-(). (d)-(1)
@ (@)-0). (b)-@v). (©)-G1). (d)-(i1)

Options:

61547538177, 1
61547538178 2
61547538179, 2
61547538130 4

Question Number : 121 Question 1d : 6154759791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following activities and concepts

Activities Concepts

(a) Process of transforming social policy (1) Human Security

into social services
(b) Process of uniting purpose and action (1) Structural Change
(c) Process of complete transformation (111) Social Admimstration

(d) Process of protecting and empowering (v) Coordination
people to cope with severe and sudden

threats to their survival

Choose the correct answer from the options given below:

(1) (a)-w). (b)-(n). (c)-G1). (d)-()
2)  (@)-). (b)-(1). (¢)-(111), (d)-(v)
(3)  (a)-(a1). (b)-Gv). (c)-(1). (d)-(2)
4)  (a)-). (b)-Gii). (c)-(v). (d)-(1)

Options:

61547538181, 1
61547538182, 2
61547538183 2
6154753581384 4

Question Number : 121 Question Id : 6154759791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(ToraTeheTm) (wheT)
CVIE: e el A E e o e A e A O I 1 = o)
(b) Sg=vd A T 1 uwar it ulE (i) H=ATHF TEd
(c) O TTam =l T (i) HTETFF TEEA

(d) T F T IeaAET % W THR 9 (iv) =
SRS TRl 1 AT F F oI

et fau o et 9 & =8 3o 9

() (a)-(v), (b)-(11). (c)-(11), (d)-Q)
(2) (a)-). (b)-(). (e)-(111). (d)-(1v)
(3) (a)-(111). (b)-(v), (¢)-(1), (d)-(1)
(4) (a)-(). (b)-(1), (¢)-(1v). (d)-(2)

Options:

61547538181, 1

61547538182 2

51547538183, 3
615475351854, 4

Question Number : 122 Question 1d : 6154759792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Articles and their respective provisions given in the Constitution of India

(a)
(b)
(c)
(D)

(e)

Articles
Article-14

Article-21-A

Article-23

Article-24

Article-45

@
(i)
(ii1)
@iv)
)

Provisions
Prohibits employment of children
below the age of 14 1n any factory

Early childhood care and education to
all children upto the age of six

Free and compulsory education to all

children of 6-14 vears

Prohibits trafficking of human being
and forced labour

Equality before law and equal
protection of law within India

Choose the correct answer from the options given below :

1)
(2)
(3)
4)

Options:

(a)-(1). (b)-(@). (¢)-(id). (d)-Gv). (e)-(v)
(a)-(a1). (b)-(11). (c)-G). (d)-(v). (e)-(v)
(a)-Gv). (b)-(v). (¢)-(11). (d)-(G11), (e)-(1)
(a)-(v). (b)-G11). (c)-Gv). (d)-(2). (e)-G1)

51547538185, 1
61547538186, 2
E1547538187. 3
E1547538188. 4

Question Number : 122 Question Id : 6154759792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A = HiaaE 9 30 10 ag=gel 9 59 A9H- 39 TEEE H Gaied i

(a)

(b)

(c)

(d)
(e)

(3T 7=a2)

HA==3 — 14

sl

T=a2 - 21-A

AT=2 - 23
AT=aE - 24
F=aE — 45

feferfiga faredt 0 3 8 3o 9

(1)
(2)
(3)
(4)

Options:

(a)-(1), (b)-(1). (¢)-(111), (d)-(1). (e)-(V)
(a)-(11), (b)-(11), (&)-(1). (D)-(V), (€)-(iv)
(@)-(tv). (b)-(v), (c)-(11), (d)-(111), (e)-(1)
(a)-(v). (b)-(m). (¢)-(1v). (d)-(1). (e)-(11)

51547538185, 1
61547538186, 2
61547528187, 3
E15475381858. 4

(1)

(11)

(111)

(1v)

(V)

(ST )
TSR W Afaad
6 a4 H 31 FF F ol w=A B OAHTEE
AT SEETE 9 e 2
6-14 @4 F T W=l F qF T AtEH
Taem wam &
O TEH 9 SR 98 9 Oiaeea
A o HieR A o 995 THEal F FE #
T T

Question Number : 123 Question Id : 6154759793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the Quality concepts with their meaning given:

(a)
(b)
(e)
(d)

Concepts
Six Sigma
Kaizen

Pareta Diagram

Kanban

@
(1)
(111)
@)

Meaning
Continuous improvement
Focusses on elimination of defects

Improves efficiency

Quality control tool

Choose the correct answer from the options given below :

(1) (a)-(11). (b)-(1). (c)-(1v). (d)-(1i)
(2) (2)-(@). (b)-(1). (c)-(11). (d)-(1v)
(3) (a)-(1v). (b)-(11). (c)-G1). (d)-()
(4) (a)-(). (b)-(v). (c)-(). (d)-(113)
Options:

61547538189, 1

61547538190 2

1547528191, 2

61547538192 4

Question Number

Correct Marks: 2 Wrong Marks: 0

: 123 Question Id : 6154759793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



(FrepegaTe) AT
(a) Toerm fammm () TEd FEw
(b) FTEH (i) = % IEH W AR 34T
(¢) Wl SP™ (ifi) = A AU 2
(@ FEEE (iv) T Fe T

E:I' E[i?liiﬁﬂ FE:I' ﬁwﬂ-ul Ta' I{ ﬂ?ﬁ EIa bl ?_Fl 2

(1) (a)-@). (b)-@). (e)-v). (d)-(i1)
@  (@-Q. (b)-1). (c)-(111), (d)-(v)
3y (@)-(v). (b)-(1). (c)-(1). (d)-(1)
(4)  (a)-(). (b)-(w). (e)-(1). (d)-(111)

Options:
1547535189 1

E15475381390. 2
51547538191, 3
515475381382, 4

Question Number : 124 Question 1d : 6154759794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the facilities and the institution which provides them

Facilities Institutions

(a) Maintanance and facihities for (1) Observation Home

education

(b) Providing necessary training for (i) Juvenile Home

reformation of juveniles
(c) Temporary reception of juveniles (1m) Special Home

(d) Any place or institution willing to (v) Place of Safety

receive and take care of juveniles

Choose the correct answer from the options given below :

1) (a)-@. (b)-G1). (e)-G). (d)-Gv)
(2) (a)-(@). (b)-(i1). (c)-(111). (d)-(v)
(3)  (a)-@) (b)-Gm). (c)-Gv), (d)-()
@)  (a)-Gv). (b)-(). (c)-G1). (d)-Q)

Options:
E15475381495.

E1547538194.
5154752381395,
515475238196,

e LI M

Question Number : 124 Question 1d : 6154759794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AL 7 3% TaH FH At TEET H gHied Hia

(mfeam) (T
(a) Toew & fou gigam 9 wEE (1) TEHIET TR

(b) TFORI % AR % o srEvrs ofem weE (i) wfEEse T
AT

(¢) ToRoIml =1 =&l =9 § TN (reception) (i) feom Te
T

(d) FE TUF AT T T RO RO T T (iv) G TEF A A T

et fau o et 9 & =8 3o 9

(1) (a)-(1). (b)-(111). (c)-(1). (d)-(1v)
(2)  (2)-Q). (b)-(). (e)-(11). (d)-(1v)
(3)  (@)-(). (b)-(11), (c)-(v). (d)-(1)
4  (a)-v), (b)-(111). (c)-(11). (d)-(1)

Options:

61547538193, 1

£1547538194. 2

6154752581395, 3
E1547538196. 4

Question Number : 125 Question Id : 6154759795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the articles of the constitution and the Provisions

(a)

(b)

(c)
(d)

List I (Articles)

Article-15

Article-16 (4)

Article-21
Article-21 (A)

List IT (Provisions)

Backward classes and their
inadequate representation in state

services

Prohibition of disecrimination on the

grounds of religion. sex and race

Right to Education

Protection of hife and personal liberty

Choose the correct answer from the options given below :

(1)
(2)
(3)
€Y

Options:

(a)-(11), (b)-(2). (c)-(v). (d)-(ii1)
(a)-(D), (b)-(11), (c)-(111). (d)-Gv)
(a)-(av), (b)-(11). (c)-G1). (d)-G)
(a)-(111). (b)-Gv). (c)-@). (d)-G1)

E1547538197. 1
E1547538198. 2
51547538199, 3
61547538200, 4

Question Number : 125 Question 1d : 6154759795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HiTaH & ATeval ° TEEHET ) HHid i

T I (s 7=22) Tt 11 (raam)
() ¥F=dE-15 i) T = W 96 U= HIET 0 s
P
(b) FT=92-16(4) (i) g, o 9 = % WUE W HE¥E W
iy
(c) “TH=a=-21 (i) forem =1 AR
(d) FT=92-21(A) (iv) =afFaTd ATE] = HET F
fr=r fau o fowewt A & T IR =4

(1) (a)-(11). (b)-(1). (c)-(av). (d)-(111)
(2)  (a)-(). (b)-(11). (c)-(111), (d)-(1v)
(3) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(4)  (a)-(1). (b)-(av). (c)-(), (d)-(11)

Options:

154752814971

15475251598, 2

61547525199, 3
E1547538200. 4

Question Number : 126 Question Id : 6154759796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following stages of programme development in community organisation are in

order.

(1) Initial stage, middle stage. expansion stage and institutionalising programme stage
(2) Initial stage, expansion stage. middle stage and institutionalising programme stage
(3) Initial stage, institutionalising programme stage, middle stage. expansion stage

(4) Expansion stage, initial stage. middle stage and institutionalising programme stage
Options:

61547538201, 1
61547538202, 2
E1547538203. 3
E1547538204. 4

Question Number : 126 Question Id : 6154759796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HTEIEF T34 1 T fTFm & Aefeigd dam 9 S FH g F 0 2 7

(1)  ARTYF 991, GoAEl, [Sean Sae), TEaH0 e STae]

[ e

(2) AT e, SR A, S, F SR e SR

(3)  sTfih ST, HEAR FE e, WA, _r_
(4)  Toamm s, SEfEE SET, AEATEET 9 TR FEEE S
Options:

E1547538201. 1
E1547538202. 2
61547538203, 3
61547538204, 4

Question Number : 127 Question 1d : 6154759797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the stages of research process, after data collection, in correct sequence.

(1) Editing the filled 1n tool. Coding, report writing, tabulation
(2) Coding, report writing, editing the filled in tool, tabulation
(3) Editing the filled 1n tool. coding, tabulation, report writing

(4) Report writing, editing the filled 1n tool. coding, tabulation

Options:
615475382051

E1547538206. 2
E1547538207. 3
51547538208, 4

Question Number : 127 Question Id ;: 6154759797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HTHS e =+ 912, N9 TERIT & o000 Fi T8 H9 H =HarEad 51

(1) S 770 719 3SUS0] T TS, AT, Tiaded o, STt
(2)  TTHATR, TideEd oEE, SO0 90 SUER = GaTE, WA
(3) Wi TU Y IUFAV I TEIEA, HIERAFA, HEOME, Wideed e

Options:

15475282051
1547538206 2
1547538207, 2



E1547538208. 4

Question Number : 128 Question Id : 6154759798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following stages of project life cycle are in order?

(1)

(2)

(3)

(4)

Options:

Defining, Planning, Executing, Delivering, Commissioning. Shutting down or clearing
up.
Planning, Defining, Executing, Delivering, Commissioning, Shutting down or clearing
up.
Executing. Defining. Planning, Delivering, Commaissioning, Shutting down or clearing
up.
Planning, Executing, Delivering, Defining, Commissioning. Shutting down or clearing
up.

61547528209, 1
61547528210, 2
E1547538211. 3
E1547538212. 4

Question Number : 128 Question Id : 6154759798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS S99 9% I g =0 O 3 A o 96 FH E Y

(1) T T, T A, TR T, TEE FEA, T OO, SETE AT 31 ST

(2) fepraTfeaa =0T, IS =1, A1 ST, TS T, 5 OO, T T 97 T2

(3) faraa =, TS =, IS S, TS T, S SO, TET9 O 97 T2 F

(4) == s, Gefaa e, UgE S, G e, e g, W T 47 2T
Options:

61547528209, 1
61547528210, 2
E1547538211. 3
BE1547538212. 4

Question Number : 129 Question Id : 6154759799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following subjects dealt in the schedules of Indian constitution in the order in
which they are listed.

(1) Scheduled Castes and Tribes, Union state concurrent lhists, Agriculture and allied
activities. Urban Areas

(2) Urban Areas, Agriculture and allied activities, Scheduled Castes and Tribes, Union
state concurrent lists

(3) Union state concurrent lists, Agriculture and allied activities, Urban Areas,

Scheduled Castes and Tribes

(4) Agriculture and allied activities, Urban Areas, Scheduled Castes and Tribes, Union
state concurrent lists

Options:

615475382131
61547538214, 2
61547538215,
61547538216 4

Question Number : 129 Question Id ;: 6154759799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT Hiaea™ o g § A Feitigd Heat w1 39 w8 1 = i e 9 g=ee e

&l
]

(1)  =grEa Sfdal 9 54 fadi, 9 759 1 Faad g1, F19 9 Tag9 e, FrE &

(2) T &4, L 3 HIEIF'JJ ERIETSILS .'H-jJ:j:T-cjvj faat 9 saaaEt. oe=g = gaadT q?ﬁ

(3) =9 T FI AHadl g1, FY 9 gy fFAwe, FHE S, AFHET FaEl 9 St

(4) M T Hagy AR, TEE &9, SPgtaa SIiaal 3 59 Siaan, g9 s i anad g
Options:

61547538213 1

61547538214, 2

61547538215 3

61547538216, 4

Question Number : 130 Question Id : 6154759800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following options given below the steps in research process are In a

sequential order?

(1) Studyving the existing literature, generating new theories, analysis of findings.

synthesing 1deas

(2) Studying the existing literature, synthesing ideas, analysis of findings, generating

new theories.

(3) Studying the existing literature. analvsis of findings, synthesing ideas. generating

new theories.

(4) Studying the existing hterature. generating new theories, synthesing 1ideas, analysis
of findings.

Options:

15475382171

61547538218 2

1547538219 2

E1547538220. 4

Question Number : 130 Question Id : 6154759800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T Ui T SO 6 e ST § 3 F i 5 FEEEN 21

(1) o™ Teeg 1 315994, 90 THga 309 F1, Hewa & Gveran, SEn & gveT

(2) T Aifecy #1 a1e99A, T &0 gvemw, el @ faveam, v fogn 30

(3) (e Jiieed 1 SA5ATE, Howal =1 fave, T o "y, U g So0 e

(4)  Toemm m@ifees = stemm, v fogm se= o, faam = mvem, e = favemm

Options:

61547538217, 1
61547538218 2
61547538219 2
E1547528220. 4

Question Number : 131 Question Id : 6154759801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following four approaches for prevention and settlement of industrial disputes in

orders.

(1) Negotiation, Arbitration. Conciliation and Adjudication
(2) Negotiation, Conciliation, Arbitration, and Adjudication
(3) Adjudication, Negotiation., Concihation, and Arbitration

(4) Conciliation, Arbitration, Adjudication and Negotiation

Options:



E1547538221. 1
B1547538222. 2
B1547538223. 3
61547538224, 4

Question Number : 131 Question Id : 6154759801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT foae] & Fanm o garam Fi FefefEg 97 Safwen #: #eaEw &

(1) neerT, aTE, T AR st (2) TETEIT, WA, T S areE
(3)  AIHUEE, 9EEESE, TOYE S HaE (4) TuEE, fEEmEE, AT ST AR
Options:

61547528221, 1
E1547538222. 2
E1547538223. 3
E1547538224. 4

Question Number : 132 Question Id : 6154759802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following constitutional provisions regarding panchayats in order, as per the
respective articles

(1) Gram Sabha, Constitution of Panchavats. composition of Panchavats, Duration of
Panchayats. Election to the Panchavats

(2) Constitution of Panchayat, Composition of Panchayats. Election to the Panchayats.
Duration of Panchavats. Gram Sabha

(3) Election to the Panchayvats, Duration of Panchayats. Gram Sabha. Composition of
Panchayats, Constitution of Panchavats.

(4) Constitution of Panchavats, Composition of Panchayats. Election to the Panchavats.
Gram Sabha Duration of Panchavats.

Options:

61547538225, 1
E1S547538226. 2
61547538227, 5
61547538228, 4

Question Number : 132 Question Id : 6154759802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tl % H9d § eiiag FarE T i 1 S-S A0l SET FH ° o

(1) T J1, TEEA] F T34, TAEA] #9924, TEEal ) wEEE, =, F e HaEe
(2)  T=ETEA] = A, TEEA F A, GEEAl # o A, D=l @ e, O w9l

(3) ‘wEmEdl * fav fatee, T=Eal # FEEE, 99 W9, T=Edl 5G9, T9Eal F 18A

(4) = 1 T34, TEEAl 1 g9, T9Eal & foe HateE, a8 a9 99Edl 5 w



Options:

61547538225, 1
1547538226 2
E15475328227. 2
61547538228, 4

Question Number : 133 Question Id : 6154759803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the institutions under the main Schemes the workers participation in management
in ascending order of their implementation.

Codes: Works committees (WC), Joint Management Council (JMC), Shop Council (SC), Umt
Council (UC), Joint Council (JC)

(1) WC, UC and JC. JMC and SC and JC
(2) UC and JC, WC, SC and JC, and JMC
(3) WC, JMC, SC and JC and UC and JC
(4) WC, JMC, UC and JC and SC and JC
Options:

615475382291

61547538230, 2

61547538221 2

E154753R8222. 4

Question Number : 133 Question Id : 6154759803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEEE H A i 9eiierl i TgE e ® i 3 S B 396 g 6 A w6 H e
F2 ;. TF FHZI (Teg H1), T A4wHZ wEEE (F W =), w9 FwEfaa (v i), 36 e (),
ks i ()

(1) seg i, s, 3w s dios
(2) i Uz = Hi, ey #fi, ww o us 9 i o S wm A
(3)  TEeg HI, F vH A, vg Hi Uz o d #W gE vz =
(4) Tog H1, 3 A W, I s I o oK vE f Uz F =
Options:

£1547538229. 1

£1547538230. 2

61547528231, 3
E1547538232. 4

Question Number : 134 Question Id : 6154759804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange 1n order the documentation style of writing a single volume reference

(1) Author’s name. Pagination. Place and date of publication. Title of the work
(2) Author’s name, Title of the work, Place and date of publication, Pagination
(3) Title of the work, Author’'s name, Place and date of publication. Pagination

(4) Pagination, Title of the work, Author’s name. Place and date of publication,

Options:

61547538233, 1
61547538234 2
61547538235 2
61547538236 4

Question Number : 134 Question Id : 6154759804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) =@a® % 9M, T T, THEE F T0E F G, T #5 A

(2) @ w1 A, T UE, THEE T 9 A, T S

(3) T=AT 1 I9F. TEF F M9, TFEE 1 TE T A, Ot HATFA

(4) Te3 GATFA, THA1 1 A9, @ 1 ATH, TREE w5 T 9 |

Options:

61547538233, 1
61547538234 2
61547538235 2
61547538236 4

Question Number : 135 Question Id : 6154759805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are four core stages of social work profession in evolutionary manner?

(1) Chanty, Development, Welfare and Empowerment
(2) Empowerment, development, Welfare and Charity
(3) Charity, Welfare, Development. and Empowerment

(4) Development, Welfare, Charity and Empowerment
Options:
15475352371
61547538238, 2
61547538239 3
1547538240 4



Question Number : 135 Question Id : 6154759805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fAtefian 4 & fahead FAEEr 9 w1 SI99E F 9R FeE FaET b 9 27

{‘1} l_ﬂ_-l 'i-";nl’-h“.‘!. he-H U] _:!-TH ﬂ'ﬂﬁﬂﬂm

(2)  HuriaaeR, T, Fegm ST g

(3) M, Fea, fFEm 3R guriEaE

(4) T/, Feam, 2 S Teiaas

Options:

61547538237, 1
61547538238, 2
61547538239 2
61547538240 4

Question Number : 136 Question Id : 6154759806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements are labelled as Assertion (A) and the other Reason (R).

Assertion (A) : Perception always shaped by previous experience.

Reasons (R) : A child shapes his/'her behaviour in family environment.

In the hight of these two statements choose the correct option given below.

(1) Both (A) and (R) are not true
(2) (A) 18 true and (R) 1s not true
(3) Both (A) and (R) are true

(4) (A) 1= not true and (R) 1s true.
Options:

61547538241, 1

61547538242 2

1547538243 3

515475387244 4

Question Number : 136 Question Id : 6154759806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 21 FoF fau T - v w1 AfEEeE (A) R g9 F a5 (R) Fa T 2
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(1)

(2)

(3)

(4)

Options:

(A) #T (R) =1 7Te1d =
(A) w71 2 3R (R) 7o 7|
(A) 3 (R) 341 =21 7|

(A) T 7 #ATE (R) "I F

615475238241, 1
E1547538242. 2
E1547538243. 3
B1547538244. 4

Question Number : 137 Question Id ;: 6154759807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements are labelled as Assertion (A) and the other Reason (R).

Assertion (A) : Human rights help us to enlarge our inherent traits, aptitude and talent

Reaszon (R) : The poorer the environment becomes the more impaired are human rights

and vice-versa

In the light of the above these statements choose the correct answer.

D
(2)
(3)
@

Options:

(A) and (R) are correct but (R) 1z not correct explanation of (A)
(A) and (R) are correct and (R) 1s correct explanation of (A)
(A) 18 correct and (R) 1s not correct

(A) 12 not correct and (R) 1s correct

61547538245, 1
E1547538246. 2
E1547538247. 3



E1547538248. 4

Question Number : 137 Question Id : 6154759807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A 3R (R) @& 2 T (A) F1 @71 = (R) 77 2
(2) (A 7R (R) 751 7 W (A) i =78 = (R) 2
(3) (AT & ¥R (R) 7o =

(4) (A T 2 1 (R) 79 2

Options:

£1547538245. 1
E15475328246 2
61547538247, o
61547538248, 4

Question Number : 138 Question Id : 6154759808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements are labelled as Assertion (A) and the other 1s Reason (R).

Assertion (A) : Criminology 1s a science

Reason (R) : Prisoners’ behaviour cannot he scientifically investigated

In the hight of the above these statements choose the correct answer.

(1) Both (A) and (R) are correct
(2) Both (A) and (R) are incorrect
(3) (A) 15 correct and (R) 1= incorrect

(4) (A) 1s incorrect and (R) 1s correct

Options:
£1547538249. 1

E1547538250. 2
E1547538251. 3
B1547538252. 4

Question Number : 138 Question Id : 6154759808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 21 w99 fu 0 E - v s (A) SR R w6 (R) A T 2

ATHFRIA (A) : AT A U T 2
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Options:
1547538249 1

61547538250, 2
61547528251, 3



E1547538252. 4

Question Number : 139 Question Id : 6154759809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements are labelled as Assertion (A) and the other Reason (R).

Assertion (A) : Middle age was one of the least explored periods in the life span. has now

come under scientific investigation

Reason (R) : Few problems related to middle age seemed important enough to engage

the psychologist who are already preoccupied with studies of children,

adoloscent, young adults and old people

In the hight of the above these statements choose the correct option.

6y
(2)
(3)
@

Options:

(A) 18 true but (R) 1s false
(A) 1s false and (R) 1s true
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

E1547538252. 1
E1547538254. 2
E1547538255. 3
B1547538256. 4

Question Number : 139 Question Id : 6154759809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547538253, 1
61547538254 2
615475358255, 5
61547538256 4

Question Number : 140 Question Id : 6154759810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements are labelled as Assertion (A) and the other Reason (R).

Assertion (A) : Death penalthy must be pronounced for persons found guilty of waging

war against nation

Reason (R) : Terrorists must get death penalty
In the light of above statements choose the correct option.

(1) Both (A) and (R) are correct
(2) Both (A) and (R) are incorrect
(3) (A) 18 correct and (R) 1s incorrect

(4) (A) 18 incorrect and (R) 1s correct.
Options:

15475382571

61547538258 2



E15475382549. 3
B1547538260. 4

Question Number : 140 Question Id : 6154759810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o
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Options:

£1547538257. 1
E1547528258. 2
61547538259,
61547538260 4

Sub-Section Number: 2
Sub-Section Id: 615475423
Question Shuffling Allowed : Yes

Question Id : 6154759811 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension



Read the passage below and choose the correct answer for the question

On the eve of world Elder Abuse Awareness Day, NGO Helpage India released its Annual
survey report based on the study of care givers (20560 respondents) in 20 cities of India. The
annual survey 1s yvearly focussed on abandonment and abuse of elders, but this year the NGO
chose to investigate care giving because” despite the abuse elders might face at the hand of
their adult children at house. they choose to remain within the family ambit”. More than one
third (35 percent) of the respondents said that they "never” felt happy or satisfied taking care
of the elderly, while nearly 14 percent felt “rarely”™ happy. Asked to rate the job of taking care
of the elderly on a “burden Scale” that offered three options — ‘mild to moderate’ ‘moderate to
severe’ and ‘sever’ — 15 percent repondents checked the box for ‘Severe’. The survey also
showed that a majority of daughters-in-law were caregivers themselves. Over half of the
daughters-in-law interviewed said that thev assisted elders in the crucial ways such as using
the Telephone, Shopping, Preparing meals, housekeeping, washing clothes and taking
medicines among other things. A telling figure in the report reflection the helplessness of
what the survey calls the “sandwich generations — people with aging parents and childrens.
It can be concluded that the society has wrong percetions about daughters-in-law.

Sub questions

Question Number : 141 Question Id : 6154759812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mention the rationale behind choosing caregiving as theme of the survey

(1) Related to elder abuse awareness

(2) NGO want to highlight the plight of sandwich generation
(3) Elders choose to remain within family ambit despite abuse
(4) Majority of daughter 1n laws are care givers

Options:

E1547538261. 1
E1547538262. 2
B1547538263. 3
61547538264, 4

Question Number : 142 Question 1d : 6154759813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The essence of the passage 1s

(a) to investigate care givers view polnts
(b) to spread awareness about elder abuse
(c) to break stereotypes about caregivers
(d) to explore attitide of care givers

(e) to highhght NGO efforts of conducting animal survey

Select the correct answer from the options given below :

(1) (2. (b) and (c) only (2) (a). (b) and (d) only
(3)  (2). (b). (¢) and (d) only (4)  (b). (). (d) and (e) only
Options:

51547538265, 1
61547538266, 2
E1547538267. 3
E15475382658. 4

Question Number : 143 Question Id : 6154759814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
On the basis of the findings of the survey. it can be concluded that

(1) Almost half of the respondents are not happy with taking care of elderly persons

(2) Since majority of the care givers are daughter in laws, they are not happy to provide
care to the elderly

(3) The care givers in rural India are better than urban India.

(4) Care giving 1s not a simple task and sandwich generation do not want to do happily

Options:

E154753826%9. 1
E1547538270. 2
61547538271, 3
B1547538272. 4

Question Number : 144 Question 1d : 6154759815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
It 1= difficult to deduce the following after reading 1in passage

(a) Son’s attitude

(b) Burden on care givers
(c) Daughter 1n laws role as care givers
(d) Helplessness of sandwich generation

Choose the correct answer from the options given below :

(1)  (a) only (2) (a)and (b) only
(3)  (b). (c) and (d) only (4) (b) and (c) only
Options:

BE1547538273. 1



E1547538274. 2
B1547538275. 3
B1547538276. 4

Question Number : 145 Question 1d : 6154759816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If caregivers feel severly burdened 1n taking care of the elderly what does it reflect/ indicate?

(a) Caregivers are not taking proper care

(b) Caregivers are suffereing with burn out’ and not able to perform well
(c) Caregivers are not professionally trained

(d) Elders do not cooperate with care giver

Select the correct answer from the options given below :

(1) (a) and (b) only (2) (a) and (c) only
(3) (a). (b) and (c) only (4) (2).(b). (c) and (d)
Options:

61547538277, 1
E1547538278. 2
E1547538279. 3
61547538280, 4

Question Id : 6154759811 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question Id ;: 6154759812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

af=Et (R i) 1 Haeae i Eaae F F9 H g % AEed W Jooid it
(1) I THIER AFEE H HEad

(2) A S o Hafaw digt T g W U S 9 2

(3) T=EER F AEE Ig TRAR F IEH % Wi A1 99 7, T 9 A

(4)  FEEEIF TEU URANE 7, H A A

Options:

61547538261, 1
61547538262, 2
61547538263 2
E1547538264. 4

Question Number : 142 Question Id : 6154759813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) e (F ) % sfeson fi S=-Tsae
(b)  9E THAEE % TEY T AT Bl

(c) g % OEY | #eag O H arsa

(d)  wiEweR i sAfagr $ TEeom

(e) =Mt T = U A AT TAE] WA ST

f=1 f2v o fepel B wE T i

(1) a9 (a). (b) 37 () (2) Fa4 (a). (b) # (d)
(3)  Fa (a). (b). (¢) 3 (d) @) FaE (b). (c). (d) 377 (e)
Options:

61547538265, 1
61547538266, 2
E1547538267. 3
E1547538268. 4

Question Number : 143 Question Id : 6154759814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T % FATH % ATHN W T8 ey e =91 9961 ©

(1) TTHT H1H IS 9g SAfFadl o gEE T & A H 96 A6 a2
(2) < SEHTEF URETE A5 2, A6 9 Igi H1 39S w8 0ES T2 2

(3) = "EA i g1 ° AH 96A § ufEnE a5 7
(4) At #7 wa FE TE 2 AR Hef O 9w FE smearET 6 e =Ed 2

Options:

1547538269, 1
61547538270 2
61547538271, 2
61547538272 4

Question Number : 144 Question 1d : 6154759815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

@ e
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Options:

61547538273, 1
61547538274 2
E15475328275 2
61547538276, 4

Question Number : 145 Question Id : 6154759816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g wft=ma g1 #1 J@ue F °§ FIE 9W YT F 7, T8 T S0/ Fhd FA B Y

(a)  OH=ERE THEE @9 TE H TR R

(b)  uf=TEF &+ ez @ difzd £ 3R =21 9 ° w6 w1 A0 =/ A
(¢)  WHRER =AEEIEE =Y | UiEnad T5 5

(d  Fg = F=mER % WY A T w1 A

Hr= f2u T faseai | wE I g

(1) =3 (a) F1 (b) (2) Fa (a) F (¢)
(3)  Fae (a). (b) 37 (c) (4) (a). (). (e) 3 (d)
Options:

61547538277, 1
E1547538278. 2
E1547538279. 3
61547538280, 4

Sub-Section Number: 3
Sub-Section 1d: 615475424
Question Shuffling Allowed : Yes

Question Id : 6154759817 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Read the passage below and choose the correct answer for the questions

There are three important aspects of relationships in the society: economic, political and
social relationships. The societal relationships are between different communities and
classes on one hand. between state and people and between people on the other. In India, the
economic relations are posing a major challenge since its inception as a modern state.
Despite several policy shifts, the gap between the rich and poor and the proportion of poor
people, have not declined. A major problem 1s the vast rural population in India. which has
not fully participated in the process of development. The political relationships in the
country suffer from social backwardness of the people. The low representation of women,
minorities and backward classes in governance has led to the political tension and
exploitation of common man by elite classes.

Sub questions

Question Number : 146 Question Id : 6154759818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The gap between rich and poor and proportion of poor people have not declined mainly

because

(a) Our socio economic policies were not quite effective

(b) People’s participation in rural India have been quite low
(c) There 1s vast population in rural India

Select the correct answer from the options given below :

(1)  (a)only (2) (a) and (b) only
(3) (a) and (c) only (4) (a). (b). and (c)
Options:

E1547538281. 1
E1547538282. 2
B1547538283. 3
61547538284, 4

Question Number : 147 Question 1d : 6154759819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The vast rural population in India has not participated fully in the process of development
can be seen as a major

(a) Failure of governance

(b) Problem

(c) Barrier in socio economic development
(d) Issue of awareness among people

Select the correct answer from the options given below :

(1)  (a) only (2) (a)and (b) only
(3)  (b). and (c) only (4) (). (b). (c) and (d)
Options:

E1547538285. 1
E1547538286. 2
B1547538287. 3
51547538288, 4

Question Number : 148 Question 1d : 6154759820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What are the important aspects of societal relationships?

(1) Economic, social and industrial (2) Social. political and human
(3) Economaiec. political and social (4) Political. Economic and religious
Options:

61547528289, 1
E1547538230. 2
E15475382391. 3
B1547538252. 4

Question Number : 149 Question Id ;: 6154759821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The social backwardness of the people 13 directly affecting largely

(1) Social relationship

(2) Economic relationship
(3) Personal relationship
(4) Political relationship

Options:

E15475382493 1
61547538294, 2
61547538295, 5
61547538296, 4



Question Number : 150 Question Id : 6154759822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The essence of the passage 1s

(1) Relationship in the society
(2) Political Relationships
(3) Social Relationships

(4) Economics relationships

Options:

61547538297, 1
61547538298, 2
61547538299 2
1547528200 4

Question Id : 6154759817 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

frefafaa mam =i afer ik g9 96-100 % =& 3T FhH -
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Sub questions

Question Number : 146 Question Id : 6154759818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AU 3R WA F #9 F 9 A7 WE TG F A0 B FH AE AR § T g

(@)  THE HIETEE AT A TEEee TR )

(b) T GTEE § T il GEEITET FTH T 2

(c) o WA R SEE e R

fefettaEy fafedt @ w71 37 g

(1)  Fa (a) (2) = (a) AT (b)
(3)  Fa9 (a) #F (o) (4) (a). (b) ¥R (c)
Options:

E1547538281. 1
B1547538282. 2
61547538283, 3
E1547538284. 4

Question Number : 147 Question Id : 6154759819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

GA | T o sEear 3 o fi afwa 3 qoigar o 995 fomn 2| 92 v = A
(@) o i faEe 2

(b) TR
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efefEa faseT o 99 38 T

(1)  ad (a) (2) Hae (a) @ (b)
(3) A (b) X (¢) 4) (a). (b). (c) = (d)
Options:

51547538285, 1
61547538286, 2
E1547538287. 3
E1547538288. 4

Question Number : 148 Question Id : 6154759820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

TTETT A TEE] o Heeau 92 FE H A7

(1) ST, AT 31t sitenfrs (2) OO, T 1T gEE
(3) TR, TSI T HETSE (4) TTEATTF, MaF 3 aihE
Options:

BE1547538289. 1
61547538230, 2
61547538231, 3
61547538232, 4

Question Number : 149 Question Id : 6154759821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SAT 21 AT (T3S Ueas €9 § o8 99 W THifEa # E A

(1)  =mEfa=s ey
(2) AT TEy
(3)  ==Eiga® day

(4)  TTFAITE o
Options:
£1547533293 1
E1547528294, 2
E1547Y538285 3
61547535296 4

Question Number : 150 Question Id ;: 6154759822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(2) e TEy
(3)  wEITF HEd
(4) AT Ty

Options:

61547538297, 1
61547538298, 2
61547538299 2
61547538200 4



